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1. Introduction

Mizuho Station was established in July 1970, at 70°42°'s,
44°20'E and 2230 m above sea level. The international index
number 89544 for a meteorological station was given by WMO in
October 1977 to the station.

Surface meteorological observation have been taken
intermittently in a period between July 1970 and March 1976 &and
continuously after April 1976. The data have been published in
the Japanese Antarctic Research Expedition (JARE) Data Reports
(Meteorology), Nos. 25, 30, 47, 52, 57, 65, 77, 86, 101 and 107.

The present report contains the surface synoptic data taken
by JARE-26 in 1985. THe observers were; M. Yoshida et al.
(JARE-25) (January 1-14), F. Okuhira, Y. Kato and T. Murai

(January 15 - March 20}, T. Kikuchi (March 21 - July 31), Y.



Ageta ‘August 1 - September 24) and T. Shimamoto, Y. Kato Y. Ito,

T. Furudachi and H. Kanzawa (September 25 - December 31).
Surface synoptic reports (FM11-C-SYNOP) at 12 GMT (1500LT)

have been sent once a day to World Meteorological Center

(Melborune) through Syowa Station (Index number 89532) on a real

time basis.

2. Instruments and Methods

Wind direction and speed (l10-minute mean), atmospheric
pressure and air temperature were recorded continuously. Clouds,
visibility and weather phenomena were observed visually at least
once a day (1500LT).

1) Wind direction and wind speed

A windmili type anemometer with a wind vane was installed on
a meteorological tower at a height of 5 m above the snow surface.
The wind speed was obtained as the instantaneous and the 10-
minute mean values. The accuracy of the wind speed was + 0.5 m/s
and + 5 degrees for the wind direction.

2) Atmospheric pressure

A precision aneroid barometer was set inside the
observatory. Its accuracy was + 1 mb.

3) Air temperature

A platinum resistance thermometer was placed inside a
radiation shelter at a height of 1.5 m. The accuracy of this
thermometer was + 0.5 °C. The maximum and minimum temperatures
of a day were taken for the period of 0 - 24 LT.

4) Visibility, clouds and weather phenomena



The visibility was observed visually by using a series of
fuel drums set at various distances in a range from 50 m to 2 km
along a straight 1line. The amount of cloud was observed
visually. The genus of cloud and the weather phenomena were
observed visuall& according to the WMO standards. They were

observed at least once a day (1500 LT).

3. Notations in Tables
1) Tables 1 and 2
Pst Monthly mean pressure at station level
Pst Daily mean pressure at station level
(Average of 3-hourly values)
T Monthly mean air temperature
Tm Daily mean air temperature
{Average of 3-hourly values)
Tx Daily maximum air temperature
Tn Daily minimum air temperature
Tx Monthly mean of Tx
Tn Monthly mean of Tn
Txx Extreme value of Tx
Tnn Extreme value of Tn
\Y% Monthly mean wind speed
Vm Daily mean wind speed
(Average of 3-hourly values)
X Daily maximum wind speed
(10-minute mean)

Vxx Monthly maximum wind speed



(10-minute mean)

Vi Daily maximum instantaneous wind speed

Vii Monthly maximum instantaneous wind speed
2) Table 3

LT Local standard time (45°E LMT. GMT + 3h)

Pst Pressure at station level

Ta Air temperature

DD Wind direction

Vv Wind speed (10-minute mean)

N Amount of clouds (in tenth)

ww Present weather (WMO code)

v Visibility

Cl Cm Ch

Genus of cloud (WMO code)

a Pressure variation (WMO code)
Intensity of blowing snow is give in 'Phenomena' by the following
criteria based on the visibility V.

+2 Blowing snow (V < 200 m)

o Blowing snow (200 m < V < 500 m)

32 Drifting snow (V < 500 m)

E Drifting snow (500 m < V < 2 km)

o Drifting snow (V > 2 km)



Table 1.

Monthly

summaries of surface meteorological data in 1985.

JAN, FEB. MAR. APR, MAY JUNE JULY AUG. SEP. OCT. NOV. DEC. YEAR
Pst (mb) 743.6 735.3 732.8 734.0 729.3 732.5 719.2 721.1 721.6 723.4 725.7 733.5 729.3
T (°c) -16.7 -23.0 -31.7 -34.6 -41.0 -35.9 -41.1 ~-42.6 ~40.0 -35.1 -26.2 -19.7 -32.3
Tx (°C) -13.0 -18.4 -28.3 -31.6 -37.9 -32.9 -36.3 -40.1 -36.4 -30.1 -20.8 -15.6 -28.4
Txx (°c) -9.8 -13.5 -19.9 -20.8 -24.7 -21.2 -22.0 -27.5 -24.4 -24.4 -14.7 -10.8 -9.8
Date 10 2 22 6 13 23 31 13 13 28 11 29 10 JAN.
Tn (°C) -21.2 -27.9 -35.6 -38.0 -43.9 -39.2 -46.0 -45.1 -43.9 -40.5 -32.3 -24.6 -36.5
Tnn (*C) -25.8 -39.0 -45.2 -45.3 -50.5 -50.6 -61.9 -50.7 -56.3 -48.7 -41.4 -30.3 -61.9
Date 18 28 31 1 12 14 16 15&17 22 14 2 3 16 JULY
v (m/s) 10.3 8.4 11.8 12.9 13.6 12.5 11.8 14.1 12.2 12.1 8.7 9.5 11.5
Vxx (m/s) 17.6 15.5 18.4 20.2 22.4 21.1 20.2 20.0 21.0 22.5 19.3 16.8 22.5
Direction E ENE E ESE ESE ENE ENE ESE NE E NE ENE E
Date 13 10 5 10 1 22 26 265 12 1 11 10 1 OCT.
Vii (m/s) 20.8 20.0 23.3 24.3 28.4 25.4 25.0 25.9 26.4 28.3 23.7 20.6 28.4
Direction E ENE ESE ESE ESE ENE ENE ENE ENE E NE ENE ESE
Date 13 10 4 10 31 22 26 12 12 25 11 10 31 MAY
Number of days
vx 10-14.9 18 19 10 8 11 15 13 9 17 17 19 22 178
15- 10 1 17 19 19 15 17 22 i3 11 3 5 152




"sble

Daily summaries

of surface meteorological data in 1985.

JANUARY 19895
Date Fst Tm T Tn Vm Vi Vi Fhenomena
(mb) (°C) (°C) (°C) {(m/s) (m/s) (m/s)
1 742.S5 -16.4 -11.8 =-20.7 11.6 13.7 E 16.2 E +° O
2 745.7 -17.7 -132.3 =21.9 11.1 12.0 E 1S.0 E +°
Z 747.23 -19.7 -16.0 -=24.0 .2 10.9 E 12.0 E D
4 747.6 -18.4 -15.1 -25.95 8.2 11.2 E 12.4 E T
S 748.2 -17.9 -14.1 22.2 8.5 11.7 E 1Z.0 E i
6 750.7 -=-16.2 -12.5 =-23Z.5 7.4 ?.6 E 10.2 E
7 749.6 -14.1 -10.7 -17.7 .2 10.7 E 12.0 ENE O
8 74Z-.8 -11.8 -2.9 -15.2 17.4 15.9 ENE 19.0 E =32
@ 745.6 -11.8 -10.7 -12.7 10.1 1S.4 E 18.7 E &°
10 746.7 -12.0 -2.8 -14.2 8.9 11.0 ENE 13Z.1 ENE #°
Mean 746.8 -15.6 -12.4 -19.9 ?.7
11 744.0 -12.7 -10.6 -16.9 11.5 14.8 ENE 17.7 E %°
12 740.8 -16.1 -12.0 -19.9 1.8 16.4 E 19.6 E 2
1% 741.8 -16.9 -12.6 =21.6 14.4 17.6 E 20.8 E $°
14 740.5 -16.2 -12.0 =20.5 12.2 1.5 E 18.9 E +' I
S 740.7 -14.9 -11.0 =21.0 ?.4 12.2 E 14.2 E +° I
16 742.0 -15.7 -12.1 =20.5 7.3 .2 E 10.8 ENE +° [
17 738.8 -19.0 -=-15.7 -=2Z.0 10.1 12.1 E 12.7 E $° O
18 733.4 -20.4 -15.37 -2S. 11.8 15.8 E 12.0 E $°
19 738.1 -16.2 -12.0 22.5 2.2 12.8 ENE 15.0 ENE $°
20 74,7 -16.9 -12.5 -21.3Z 2.4 11.9 E 12.2 ENE +° s
Mean 740.5 -16.6 -12.9 -=-21.32 11.0
21 742.0 -19.8 -146.0 -=-2Z.2 ?.1 11.7 E 12.1 E i
22 740.7 -19.S5 -1S. -24.9 8.6 10.4 E 2.2 E D
23 740.9 -19.9 -15.0 -=-2S. .0 12.2 E 14.9 E +' @
24 744.8 -18.2 -1Z.2 -=-23. 4.7Z 6.6 E 7.2 E 1
28 747.0 -19.1 -14.8 -=-23.7 8.5 10.9 E 12.5 E +° 7
26 749.% -17.8 -12.8 -=-21.8 12.7 15.S E 17.9 E 3
27 747.2 -19.0 -14.46 =-2T.0 1.5 17.2 E 20.5 E 2 i
28 74Z.0 -16.9 -12.8 -=-23. 11.0 1S.0 ESE 18.0 ESE 4
29 741.3 -15.7 -11.8 -19.0 ?.1 14.2 E 17.1 E + @
IO 741.4 -15.0 -11.9 -18.0 13.1 16.7 E 20.2 E 2
1 742.8 -16.6 -12.6 -19.7 10.5 12.7 E 16.7 E 3o
Mean 74Z.7 -17.9 -132.8 -22.4 10.1
Monthly mean
742.6 -16.7 -1Z2.0 -=-21.2 10.3




FEBRUARY 198S

1 744.5 -18.2 -1Z.6 -22.C 10.8 1Z.9 E 16.6 E I

Z 742.0 -18B.6 -1Z.5 -24.1 10.5 1Z.1 E 1.0 E 1T

T 7I7.9 -19.9 -14.6 -24.8 10,2 12.9 E 16.1 E 3

4 742.2 2T, -17.6 =27.Z 6.8 10.% E 12.2 E O

S 74Z.1 =23.5 -16.2 -28B.8 Z.7 6.8 NE 7.5 NE

6 742.2 -2Z.0 -=-17.8 =30.0 6.1 ?.2 ESE 11.0 ESE I

7 742.9 -21.7 -17.0 -28.6 Z.7 S.9 NE 7.1 NE i@

8 778.8 -25.2 -17.7 -=-IZ1.0 2. 4.9 W S.0 W O

4 -2Z.35 ZIZ.7 10.5 14.9 E 18.2 E O
10 -16.5 -28B.0 1Z.0 5.5 ENE 20.0 ENE #2

Mean -16.8 -27.°9 7.8

11 728.1 -17.8 -16.2 -19.8 11.5 1Z.0 ENE 15.Z2 ENE +2
12 7322, -18.5 -15.Z2 -=22.0 9.7 11.S ENE 14.0 ENE 4+ 1
1z 727.7 -17.3 =-14.0 -22.35 2.2 11.1 ENE 13.5 ENE #2
14 728.9 -21.4 -18.2 -25.8 8.6 12.9 ENE 14.6 ENE It

S 729.2 2% -18.9 -28.0 2.9 12.0 E 1Z2.8 E +°
16 3.8 -24.9 -19.0 -I0.0 8.4 11.2 E 1Z.0 E O

17 7275.0 -24.0 -15.32 -Z1.8 4.6 8.2 E 2.2 E I

18 7I79.1 -26.4 -20.8 -=-324.0 6.0 8.7 ESE 2.5 ESE D

19 736.7 -21.9 -19.9 -=-25.0 11.1 1Z2.2 E .29 E #+# 1
20 7I7.7 -19.4 -16.5 -21.5 8.7 12.2 E 14.5 E =

Mean 732Z2.9 -21.5 -17.4 =-26.0
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MARCH

1985
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AFRIL 1985

Date Fst Tm T Tn vm Vi Vi Fhenomena
(mb) {(°C) (°C) >y (m/s) (m/s) (m/<s)
1 720.2 -40.9 = 14.1 16.0 E 20,0 E 2
2 729.27 -Z1.2 S 16.9 17.S ENE 21.9 E 42
> 29.0 -21.0 > 14.4 16.1 E 20.1 ENE %2
4 7Z9. -Z0.7 S 10.5 1Z.0 E 15.5 E
S 7370.8 -=-25.0 1 14.9 16.2 ENE 21.0 ENE %2
& 5.4 =22, 8 14.9 17.S5 E 22.S E a2
7 730.7 -=-27.5 -=-24.5 -I0.2 15.8 18.8 E 22.8 E 2
8 742.5 -Z2. -29.9 -26.2 10.5 1Z.6 E 16.0 E 30 00
Q@ 746.5 -24.7 -I2.0 -=-328.0 14.1 20.0 ESE 24.0 ESE =
10 728.0 -=-ZZ.8 -21.9 -=-Z6.7 18.5 20.2 ESE 24.2 ESE 32
Mean 7274.4 -71.0 -=-28.4 -=-I5.0 14.4
11 7372.8 -=-26.9 =-37.2 -41.5 1.9 18.1 ESE 22.0 ESE +2
12 720.8 -=-27.6 -=-25.0 =Z=.2 11.7 5.4 E 24.0 E 2
17 721.0 =-Z6.1 -=-28.0 -=41.0 10.9 2.5 ESE 14.5 ESE # I
14 722.7 -27.5 -432.8 8.2 11.0 ESE 12.1 ESE % =
S 726.4 -29.2 -=-I29.0 .9 8.0 NE ?.% NE
16 726.1 -29.6 -=-I7.0 6.5 8.6 E 10.2 E +~
17 725.7 -Z2.4 -42.6 8.6 9.9 E 11.2 E +* M
18 I9.2 —-42.2 -=-40.0 -44.,2 1>.8 15.2 ESE 19.0 ESE %2
12 739.1 -42.1 -28.8 -44.6 14.0 2.2 E 19.2 E +2
20 7II.T -4T.0 -40.T -44.7 15.5 17.4 E 21.9 E %2
Mean 720.2 -=-I7.6 -=-IZ2.4 -41.2 11.1
21 729.6 -42.1 -41.1 -4Z.0 15.8 17.5 ESE 21.9 ESE 32
22 7332, -Z8.7 -=-IZ7.0 -=-41.1 14.7 16.1 E 21.2 E %2
2= 726.7 -IZ2.6 -Z8.1 -41.2 14.4 16.27 E 20.0 E 2
24 740.7 -41.7 -40.1 -42.2 12.6 14.2 E 16.5 E %2
25 73I39.35 -=-35.4 -IZ2.2 -40.4 1Z.7 1S.4 E 18.1 E %2
26 742.0 =26.2 -24.95 -ZZ.2 11.5 12.2 E 15.6 E %2
27 -24.6 -22.% -27.9 12.8 S.2 E 18.6 E #2
28 -Z0.8 -25. -Z4.0 12.2 14.6 E 17.7 E @
29 -24.9 -I0.9 -=326.7 11.6 1Z2.4 E 1S.5 E +° O
Z0 -%7.9 -I6.0 =-ZI2.2 1Z.6 18.2 ESE 22.0 ESE 2
Mean -Z5.1 -3Z2.8 -Z7.8 1Z.2
Mormthly mean
724.0 -24.6 -31.5 -28.0 12.9




MAY 1985

Date Fst Tm T Tn Vm VU Vi Fhenomena
(mb) (°Cy» - (°0C) () (m/s) (m/s) (m/s)

5.8 -T74.5 32 -37.0 19.9 22.4 ESE 27.4 ESE 2
772.1 -37.7 -=-35.1 -3I9.2 15.0 17.5 E 21.2 E 2
770.2 -42.4 -I9.2 -44.0 1Z.3 15.9 ESE 19.5 ESE #2
731.9 -4%.2 -41.8 -44.1 11.7 1Z.0 E 15.8 E %2
728.3 -I9.9 -IB.S -43.3= 11.9 13.9 E 18.9 ESE 2
732.8 -I8.Z -I7.0 -39.2 12.6 14.0 E 16.8 E 2

& -Z2.9 -=-29.1 -37.6 11.4 13.7 ENE 17.5 ENE 2
-41.2 -=-I7.6 -44.0 10.6 12.27 E 14.9 E %2
731.6 -I6.9
-44.9
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11 720.6 -46.% -45.2 -48.73= 11.9 13.6 E 18.2 E 2
12 728.1 =-44.7 -34.1 -50.5 11.4 16.2% E 20.1 E 2
172 721.5 -27.2 -24.7 -3Z4.1 15.9 20.0 ENE 25.8 ENE 2
14 727.5 -IZ2.2 -26.8 -37.1 12.4 16.8 ENE 19.7 ENE +2
18 721.6 -41.7 -=-36.2 -44.7 11.2 12.6 ENE 1S5.6 ESE $*
16 732 -44.2 -4T7.4 -45.0 12.7 14.7 E 17.2 E 2
17 734.5 —-46.0 —-44.,9 -46.8 15.8 18.5 ESE 22.2 ESE +2
18 727.9 -42.6 -41.7 -44.°9 1.7 17.2 E 20.9 E %2
19 728.0 -41.9 -40.7 -42.4 14.2 16.0 E 19.6 E 2
20 731.4 -39.8 -39.2 -41.0 15.6 16.8 E 19.8 E

B¢

Mean 728.4 -40.7 -=-37.7 -43=.5 12.7

21 731.9 -4Z.7 -39.2 -47.
22 728.% -47.4 -46.1 -—48. 16.2 18.3 ESE 22.0 ESE
27 731.0 -48.9 -47.5 -=350. 16.4 18.2 ESE 22.2 ESE
24 73T0.1 -44.6 -40.8 -47.5 1.8 12.1 E 2Z.2 E
25 730.9 =-4I.3 -I9.9 -46.3 12.8 1Z.9 E 16.6 E
26 726.4 -3I4.0 -29.2 -42.8 14.4 18.4 ENE 2Z.8 ENE
27 725.4 =32, -27.1 -3I9.9 10.8 16.8 ENE 20.2 ENE
28 737.7 -4=.0 -IZ7.9 -45.8 .9 12.9 E 14.9 E
29 729.0 =-45.6 -44.1 -46.7 14.5 16.8 E 20.5 E
0 720.9 -47.2 -46.0 -48.6 17.6 20.0 E 28.5 E
1 720.1 -40.9 -3I5.0 -46.0 19.4 22.9 ESE 28.4 ESE +2

15.4 16.4 E 19.6 E
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Mean 728.2 -—-42.8 -39.3 -46.4 14.8
Monthly mean

729.2 -41.0 =I7.9 -4I.9 1Z.6




JUNE 1985

Date Fst Tm T Tn Vm VU Vi Fhenomena
(mb) (G )] °C (° (m/s) {m/s) (m/s)

1 -Z2.0 -=-40.0 14.= 18.5 E 22.2 E +2
2 -I9.1 -4, 10.2 1Z.0 ENE 15.1 ENE +2
= -Z0.1 -I29.1 12.6 19.2 E 27,7 E +2
4 -26.0 -=-I2.1 16.4 18.9 E 27.% £ 32
S -Z2. -78.9 14.Z 16.0 E 20.0 E 2
6 -Z8.1 -41.2 15. 7% 16.9 E 21.1 ENE 2
7 -Z9.9 —-41.0 14.5 16.5 E 19.6 E %2
8 -29.8 -IZ7.2 16.0 19.8 ESE 24.35 ESE +2
Q -28.0 ->1.8 12.8 15.2 E 19.0 E 2
10 -28.6 -27.7 12.8 16.7 E 20.0 E %2

Mean -Z2.7 -I8.1 14.0
11 -Z7.7 —-4Z.2 19.5 12.2 E 1Z2.8 E +° iIs
12 -J6.1 -—-42.1 12.9 15.S E 17.6 E #°
17 -Z7.4 -=-40.%9 11.1 1Z.0 E 15.8 E +° 1
14 -40.4 =50.6 8.7 12.0 E 14.2 E
S -46.6 -50.1 1Z.2 14.0 E 17.0 E 32
16 -27.7 =49.0 11.2 12.7 E 16.2 E O
17 -Z4.1 -41.1 10.2 12.0 ENE 16.8 ENE 2 @
18 -24.4 -—-42.8 9.1 10.8 E 12.2 E #¥ s
19 -42.0 -—=47.4 12.1 15.0 E 17.8 E 2
20 -Z7.9 -=-42.1 14.2 16.0 E 19.6 E #?
Mean -28.4 -44.% 11.2
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Mean 7IT7.6 -IZ1.0 =27.% =I9.0C 12.2
Monthly mean
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JuLy 1985

Date Fst
{mb)

25.1

717.2
707.3
715.6
716.6
709.4
704.9
715.2
732,

726.3

0 DNDOWU PR

[
"

717.0

=X
D
P
3

11 721.9

-— -t

17 716.5
14 707.9
15 708.7=
16 709.0
17 704.2
18 708.2
1?2 714.0
20 717.=

Mean 71Z.0

21 725.9

22 722.4
23 725.4
24 734.0
25 72I.3

26 719.8
27 718.0
28 723.7
29 728.9
IO 7Z4.1
1 7ZIB.6

-37.5
-28.7
-28.1
-40.5
-45.4
-47.6
-46.5

-27.2

Tn
(°C)

Vm
(m/s)

Vi
(m/s)

-40.0
-37.8
-32.9
-4Z.0
-46.7
-48.9
-47.8
-46.8
-45.0

-IZ2.6

-42.1

8.0
10.8
1Z.9
12.0
1Z.1
14.7

11.6
11.0
12.7
12.2
10.2
12.7
16.=
11.0

9.6

12.2

11.7
1Z2.2
14.7
14. =
8.9
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11.0
12.6
11.2
12.1
11.1
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14.5
14.=
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16.0
15.1

ENE
ENE
ENE

ESE
ESE
ENE
ENE

ESE
ESE
ENE
ENE
ENE
E
E
E
ENE
NE

Fhenomena

B

16.7
15.5
19.0
19.5
14.7
19.7
24.8
21.9
1S5.0

17.0

16.0
18.8
19.7
19.6
23.7
25.0
19.4
20.0
17.0
20.9
19.2

ESE
ESE
ENE

ENE

ENE
NE

Mean 726.7 -40.7 -35.5 -46.2 12.=
Monthly mean
71e.2 -41.1 —I36.3 —46.0Q 11.8
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SEFTEMEBER 1985

Date Fst Tm Tx Tn vm Vi Vi Fhenomena
(mb) (°C) (°C) (°C) {m/s) (m/s) {m/s)
1 716.9 -29.4 -=-36.9 -43.1 11.7 1S.1 E 18.0 E #°
2 724.8 -=-42.7 -40.6 -44.9 10.5 11.5 E 1Z2.7 E ' {In
T 736.0 =42.0 -=I7.7 -—-45.9 10.0 11.7 E 17.8 E 4 0
4 736.2 -45.8 -42.4 -47.8 10.4 14.6 ESE 18.0 ESE +°
S 72S.1 —-46.7 -44.0 -—-48.5 15.4 18.6 E 22.9 ESE 2
6 721.7 -=-329.2 -I6.6 -44.T 1.2 17.1 E 21,5 E 2
7 729.7 =39.7 -=-3I37.2 -=-42.9 12.4 14.% E 18.0 E $2
8 728.1 -42.6 -40.4 -45.4 14.7 16.0 ESE 20.0 ESE 2
2 717.2 —=45.7 -44.0 -46.8 1S5.5 16.7 E 21.6 E $2
10 719.6 —-46.4 -44 .4 -47.6 14.0 15.5 E 20.6 E $2

-4Z.0 —=40.4 -45.7 1Z.0

X
1]
b
)
N
)
w
w

11 715.6 -—-43.6 -I7.7
12 714.0 -28.4 -24.8
17 721.2 -25.8 -24.4

16.7 17.7
18.2 21.0
11.9 19.6

21.9 E $2
26.4 ENE :
2T.7 NE 42

mm

19 727.5 -41.6 -Z7.8 -44.

20 723I.2 -42.5 -37.2 -46.

1=,
1=

PAHUDODROPANON

mmmmmmmzZz ZMm

14 720.2 -27.7 -25.9 12.0 15.2 19.2 E 2
S 715.3F -28B8.2 -28. 14.0 17.2 20.8 E $2
16 722.0 =3I5.0 =Z0.5 =40, 11, 14. = 17.7 E + In
17 719.8 =-Z7.4 -Z4.0 -40. 12,7 13,2 15.6 E #°
18 719.9 -39.4 -=-36.0 -47. 10. 13,0 1.5 E $° 4
E
E

1
8
?.9 10.8
10.8

(]

Mean 719.9 -35.0 -=-31.4 -39.

—

12.8

21 712.6 -49.9 -45.0 -88. 2.7 12.6 E 15.1 E
22 717.2 -47.6 -41.% -S6. ?.0 12.0 E 16.2

23 716.7 -3I5.7 -30.8 -43.2 1Z.6 15.2 E 18.9
E
E

[

S
E
E
24 713.9 -=-40.1 =35.0 =43Z.0 11.8 13.7 16.0 E
25 711.27 =-42.4 -328.1 —-45. 12.3 1Z2.1 16.0 E $2
26 710.0 =42.1 -28.9 -—-46.8 10.2 12.6 E 15.6 E
zZ7 715.8 =326.9 -=-IIZ.0 -=39.8 10.2 11.2 ENE 14.1 EN
28 726.2 -40.8 =IT6.2 =46.0 8.6 ] 11.8 E

29 738.4 -42.4 -3I7.7 -—-47.5 10.4 ] 14.% ESE +° (I
30 733.2 -42.7 -Z7B.S -45.2 1Z.0 18.7 ESE 22.1 ESE #2

Mearnm 719.5 -42.0 -=-Z7.4 -46.8 10.9

Monthly mean



Date Fst Tm Tx Tn Vm VU Vi Fhernomena
(mb) (*C» (¢ C» °C) (m/s3) i{m/s) (m/s)

1 720.2 -I8.5 -4S.6 19.9 22.S5 E 26.7 E %2

Z 726.9 -I4.6 -78.8 16.4 22.0 E 6.4 E 2

Z 728.2 -I4.7 -29.0 1Z.2 17.0 E 20.7 E  ° O
4 728.8 -25.8 -Z9.0 11.7%2 17,7 E 15.°9 E +° 7
= 25.7 -I5.8 -37.4 12.9 14,0 E 16.7 E  +#° 7
6 726.8 -IZ7.4 -40.7 12.8 15.1 E 18.0 E %°

7 725.Z2 -3Z7.8 -41.9 12.0 1301 E 1.2 E +° O
8 718.0 -=-I9.0 -472.4 12.6 12.6 E 16.1 E +° 7
@ 714.8 -40.3% -45.7Z 10.8 1Z.7 E 1.4 E #° o
10 720.8 -=-39.7 -47.0 7.6 11.0 E 1Z.8 E i

X
m
b
a
N
r)
(2]
n
|
(2]
~)
1,
|
]
3]
tJ
|
I
@]
—
LR

11 718.4 2 -3Z4.8 -45.7 2.7 13.2 E 15.2 E +° O
12 711.9 4 -I1.6 -41.1 10.7 14.1 E 17.2 E #°
172 717.2 6 —-I2.&6 -46.4 5.9 .2 E 1.8 E O

14 719.8 4 -34.7 -48.7 11.8 2.4 ESE 15.5 ESE %2

S 71%9.6 Y -44.1 7.0 12.4 E 14.4 E +° @0
16 721.1 2 -Z7.5 4.6 7.2 ENE .S ENE I

17 727.5 S -40.4 S.6 3.% E .7 E i

18 727.2 8 -42.8 ?.1 11.9 E 14.0 E O
19 722.0 4 -4Z.5 12.2 14.6 E 18.0 E 2
20 720.7Z Q? -4Z.0 1Z.7 15.6 E 18.6 E $2

Mean 720.5 -I7.0 =-IZ1.35 -—-4Z.3C .4

21 O -IZ0.7 -47Z.8 10.2 1Z.2 E 17.9 E +°
22 4 =-27.2 -40.4 1G.1 1Z2.6 E 15.0 E +° .0
2= 8 -27.7 -=-I7.2 1Z.9 16.1 E 18.9 E 2
24 1 -26.8 -I5.5 17.1 1.2 E 23, E
23 6 —-26.7 -Zo0.2 20.5 22.T E 28.7 E 2
26 0 -26.8 -I4.7 18.8 Z21.2 E 27.4 E B
27 S -27.0 =-ITE.7 17.4 21.< E 25.0 E =
28 1 -24.4 -ZZ.4 1Z.6 16.%7 E 21.4 E 2 .0
29 8 -25.2 -Z6.4 11.2 14.4 E 17.0 E  $° i
0 6 -27.27 -T8.0 10.9 2.5 E 14.8 E +° 7
o1 .1 -26.6 -I28B.4 8.7 11.3 E 1Z2.8 E O

Mean 725.9 -Z1.

a
|
t)
o
-0
|

1
o
J
-
(R}
0y

727.4 -3IS.1 -T0.1 —-40.5 12.1



NOVEMEER 1985
Date Fst Tm T Tn vm Vi
(mb) (¢ C) (°C) (°C) (m/s) (m/s)
1 -27.4 -40.6 7.9 10.5 E
2 -28.8 -41.4 2.2 11.2 E
b -26.5 -40.4 2.2 11.0 E
4 -24.4 -38.5 8.0 11.2 E
=] -24.8 -I9.6 6.0 8.4 E
& -28.2 -40.9 8.9 10.5 E
7 -26.2 -40.73 8.8 10.9 E
8 22.7 -3I9.7 4.7 .2 E
9 22.9 -40.9 6.4 10.1 NE
10 -15.7 -=-24.1 7.1 ?.2 N
Mean -24.7 -78.6 7.6
11 -14.7 14.8 19.2 NE
12 -18.4 8.9 11.9 E
1= -17.1 12.27 15.4 E
14 -17.72 8.9 10.6 E
1S B -20.% 8.2 10.8 E
16 720.2 -28.1 -21.2 6.4 8.8 E
17 715.2 =-26.2 -21.6 10.8 12.8 E
18 722.0 -=-22.2 -18.5%5 9.0 14.0 E
19 724.7 -=25.5 -=-20.2 .72 11.8 E
20 718.2 -26.4 -21.7 12.27 16.0 E
Mean 720.8 -=-27. -19.1 10.2
21 -21.8 -=-322.5 11.6 12.9 ESE
22 -19.1 8.2 12.0 E
23 -20.2 7.1 2.2 E
24 -19.2 ?.8 1i.4 E
25 728.6 -22.7 -17.5 6.7 2.1 ENE
26 -19.0 8.0 ?.6 E
27 -12.0 8.6 ?.9 E
28 -17.2 ?.2 1Z.7 ENE
29 -17.0 7.8 11.6 ENE
0 -17.2 7.0 10.0 E
Mean 729.2 -22.9 -18.7 8.4
Monthly mean
725.7 -=-26.2 -20.8 -=-I2.72 8.7
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14.2
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12.6
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DECEMEER 1985

Date Fst Tm Tu N vm Vi Vi Fhenomena
(mbt) ey (°C) °C {(m/s) {(m/s) (m/s?}

7.2 -24.2 -19.7 -29.0 10.8 1Z3.0 ENE 15.9 ENE +° 1T
4.0 -24.5 -19.2 -29.5 11.1 12.9 E 14.9 E ' i

-2S.0 -12.6 -20.7Z 10.6 12,1 E 15.0 E +° I
-2Z. -18.7 -29.0 11.6 14.2 ENE 17.9 ENE +*
-20.7 -18.0 -=-285.2 11.8 16.1 ENE 19.6 ENE $2

-19.4 -15.1 -24.8 11.C 12.6 E 16.6 E v (In
11. 14. 2 E 17.9 E E 2]
1Z2.0 E 15.9 E +° i
16.6 ENE 20.1 ENE +° Tx
16.8 ENE 20.6 ENE %2

PO bW+~
[ S S s P S |
|
—
03]
o
|
-
2]
1]
)
i
0

AR R G ] )

-20.8 -16.8 -26.8 11.
-16.6 -14.Z% -19.9 14,

N RN NG I NERE S
N ENENENENENENENENEN

-
o~ b N

Mean 7321.0 -21.3 -17.1 -26.4 11.4
11 723.0 -18.2 -15.0 -22.9 9.7 1.5 E 15.9 E +°
12 7327.1 -=-20.9 -16.9 -=-25.2 2.8 11.2 E 12.7 E  $° s
12 7320.9 -22. -18.0 =27.0 10.2 12.1 E 14.5 E 1 0D
14 7374.5 -22.7 -19.2 7.7 10.9 E 11.8 E +°
15 739.2 =20.0 =16.2 8.6 11.7 E 1Z.6 ENE +* @
16 7274.1 -20.2 -16.8 10.32 2.2 E 14.1 E ' O
7 721.1 -18.8 -14.9 11.32 15.8 ESE 19.0 ESE 2
18 771.6 -=-16.0 -12.4 -21.8 .6 2.9 E 5.2 E &°
19 744.1 -17.0 -=-1Z.1 =-20.4 2.6 11.6 E 1Z2.4 E $°
20 736.1 -17.1 -14.2 -21.8 11.8 15.0 E 17.5 E %2
Mean 734.4 -19.2 -15.7 =23Z.7 9.9
21 729.6 -17.8 -14.7 -22.0 11.32 14.1 E 16.6 E 1.2
22 771.8 -18.1 -16.2 -21.8 2.5 Z.9 E 16.C ENE #2
2T 73T0.6 =20.6 -16.7 -=-24.0 .6 14.1 E 16.7 E %2
24 726.9 -20.0 -15.2 -24.9 7.7 9.8 E 11.6 E +° I
25 73I0.9 -18.1 -15.1 -24.0 7.2 10.8 E 12.2 E Iy
26 777.3 -15.9 -11.8 -19.6 2.3 S.2 ENE 5.9 ENE
27 725.6 -—-19.9 -12.8 -26.1 .9 6.4 E 6.6 E ]
28 7I37.9 -19.2 -14.2 =27.7 7.8 9.2 ENE 11.0 ENE +° In
29 7I39.0 =17.6 -10.8 =27, 5.4 11.27 ENE 1Z.0 ENE D
Z0 740.5 -19.0 -1Z.8 -24.8 7.7 10.2 ESE 12.0 ESE +°
1 746.6 -19.27 -=-14.27 -=-24.1 10.0 11.5 ESE 1Z.0 ESE O
Mean 73S5.2 -18.7 -14.2 -27. 7.5
Morthly mean
722.95 -19.7 -15.& -24.6 Q.S



‘able 3. Surface synoptic data in 1985.

Date LT Fst Ta DD A% N ww V CiCmCh a Fhenomena
{198%5) (mb) (°C) (16) (m/s) (km)

JAN. 1 03I 74Z.0 -20.5 4 12.9 8
06 742.2 -19.4 4 12.6 6
02 741.8 -16.=% 4 12.2 o+ 38 1.5 001 6 ¥° 0O+Ci
12 741.7 -12.5 4 1Z2.1 2 I8 1.5 001 6 ° 2Ci
15 742.2 -12.1 4 11.5 1 36 5.0 001 2 $° 1Ci
18 742.2 -12.8 4 9.1 >
21 742.7 -16.4 4 10.8 1
24 744.1 -19.9 4 10.4 1
JAN. 2 03I 745.0 -21.5 4 11.4 1
06 745.0 -21.0 4 2.5 S
09 745.9 -17.4 4 11.4 2
12 745.2 -15.1 4 12.4 1 326 10. 001 8 +° 1Ci
S 745.7 -12.2 4 11.0 1 IT6 10. 001 O +° 1Ci
18 745.4 -14.3 4 11.6 &
21 746.1 -17.3 S 9.4 3
24 746.8 -21.5 S 8.7 1
JAN. 3 02 747.1 -22.2 4 2.8 (@)
06 747.% =22, 4 2.5 1
09 747.2 -19.1 4 10.0 O+ 02 0. 001 4 O0+Ci
12 746.9 -16.9 4 10.1 0O+ 02 Z0. 001 6 O+Ct
15 747.0 -16.1 4 8.9 O+ 02 0. 001 O O+Ci
18 747.0 -16.27 4 6.9 S
21 747.7 -19.5 S Z.9 a
24 748.0 -24.0 5 6.8 0
JAN. 4 03I 748.0 -24.9 4 8.1 S
06 747.7 =2=. 4 10.1 =)
09 747.5 -19.2 4 10.8 0+ 02 3Z0. 031 8 O+Ac O0+Ci
12 747.4 -17.1 4 10.2 3T I6 20. 0Z0 8 +° ZAC
1S 747.6 -15.9 3 8.8 4 02 20. 0Z0 3T 4Ac
18 747.6 -15.1 3 5.0 (@)
21 747.5 -15.% 4 6.6 6
24 747.6 -16.8 4 6.8 (@)
JAN. § 02 747.7 -22.0 4 8.7 Z
06 748.2 -21.1 4 9.5 1
09 748.2 -17.2 4 11.7 0O+ 02 20. 0Z1 S O0+Ac 0+Ci
12 748.6 -14.8 4 ?.8 O+ 02 20. 0Z1 2 O0+Ac O+Ci
1S5 748.7 -14.4 4 ?.5 0O+ 02 20. 031 3 O0+Ac O+Ci
18 748.5 -14.2 4 S.9 8
21 748.2 -17.8 S S.4 S
24 748.6 -22.0 4 7.7 2
JAN. 6 03 749.4 -22.8 4 ?.2 =
06 750.1 -19.6 4 8.0 2
09 751.1 -16.8 4 8.2 0+ 02 3I0. 0Z1 2 0O+Ac 0+Ci
12 751.4 -12.6 4 7.7 O 02 3I0. 000 1
S 791.2 -1Z2.0 S 7.5 0O+ 02 3Z0. 0I0 8 O+Ac
18 7S80.5 -12.4 4 6.7 8
21 750.7 -15.2 4 S.1 it
24 751.2 -1S.2 4 6.5 2



Date LT Fst Ta DD YV N ww V Cl1CmCh a Fhenomena
(198%) (mb) (°C» (16) (m/s) (km)

JAN., 7 OZ 751.8 =-17.0 4 7.9 1
06 751.2 —-16.7 4 9.9 8
09 791.27 -15.4 4 9.7 1 6 20, 0Z1 0O +° 1Ac O+Ci
12 750.7 -11.9 4 10.0 2 02 Z20. 0Z1 B8 Z2Ac O+Ci
S 749.Z2 -10.7 4 10.1 1 02 20, 002 7 1C1
18 748.0 -11.85 4 8.7 8
21 747.4 -14.2 4 7.9 =)
24 747.1 -15.2 4 9.6 8
JAN. 8 0Z 746.0 -14.7Z 4 11.0 (=)
06 745.7 —-14.3 4 11.9 8
09 745.0 —=-1Z=.0 4 1Z.4 10 71 0.15 07X 6 w42 10AC
12 744.2 -11.0 4 14.1 10- 71 ©O.40 072 8 3% SAc 10-Ci
S 742.4 -10.72 4 1Z.8 10 71 O.Z20 Q7X 8 3! 10Ac
18 742.2 -10.1 4 1Z.95 =)
21 741.6 -10.7 4 15.1 S
24 742.4 -11.1 = 14.2 2
JAN. @ OI 742.6 -12.0 4 14.8 I
06 74Z.2 -11.7 4 12.5 1
09 744,22 —-11.0 = 11.5 10 71 2.0 Q7X 1 1ACc 1048
12 745.0 -10.8 = 10.1 10 71 2.0 02X 2 10As
S 745.8 -11.0 2 10.2 10 71 1.0 02X = 10As
18 746.4 -11.7 = 9.5 1
21 748.1 -12.6 2 6.6 1
24 749.0 —-13.7 4 S.2 1
JAN. 10 OZ 748.7 -1Z.4 = 6.4 8
06 747.8 -12.8 = 9.4 7
09 747.2 -11.7 = 10.7 10 Z8 2.0 07 6 $° 10Cs
12 746.9 -10.4 = 10.2 10- =28 4.0 072 8 %° SAc 10-Ci
15 746.2 -10.3 = 2.8 10— =8 5.0 072 7 %° SAc 10-Ci
18 745.7 -10.9 = 7.0 8
21 745.S5 -12.4 4 7.2 S
24 74S5.2 -14.0 4 10.1 8
JAN.11 0OZ 74S5.1 -14.S5S 4 12.0 8
0& 744.8 -15S.1 4 11.6 8
09 744.8 -14.1 4 11.1 10- =28 S.0 OZ=X S ° 10-AC
12 744.6 -12.2 = 10.1 9 6 10, 0zZ2 8 ° bLAC 4L1
19 74Z2.4 -11.0 4 1Z.0 8 =8 S.0 531 8 %° O+Sc /ru ()
18 74Z.1 -11.9 4 12.2 8
21 742.2 -132.7 4 9.8 =
24 74>-.1 -16.9 4 12.1 S
JAN. 12 02 742.6 -19.5 4 12.2 8
06 741.2 -18.0 4 1=Z.8 b
09 740.5 -1S5.6 4 14.5 4 =8 .70 OO1 8 $° 4Ci
12 740.2 -12.2 4 14.2 0O+ =8 0.90 002 S %° 0O+Ci
15 740.1 -12.4 4 14.5 0O+ 28 0.90 002 S %° O0+Ci
18 740.0 —-1=.6 4 12.6 3
21 740.S5 —-1&6.4 4 1=2.7 s
24 741.1 -19.7 4 14.9 2



Date LT Fst Ta DD W N ww V Ci1CmCh a Fhenomena
(198%) (me) (°C) (16) (m/s) (km)

JAN. 13 0 741.5 -21.2 4 15.1 [®)
06 741.5 -19.7 4 14.7 Q
09 741.2 -17.0 4 16.2 0O+ 28 0.350 001 S % 0+Ci
12 742.0 -14.5 4 15.6 1
1§ 742.1 -132.6 4 14.1 1 8 1.5 002 0 F° 1Ci
18 741.9 —-14.0 4 13.1 7
21 742.1 -—-16.4 4 12.7 1
24 742.1 -19.0 4 12.95 (@]
JAN. 14 OZ 742.2 -19.0 4 12.2 =
06 741.1 -19.2 4 1S.1 b
09 740.7 -16.0 4 15.2 T 3I6 S.0 001 7 #* 3Ci
12 740.2 -12.S 4 14.2 10— 36 S.0 001 7 $° 10-Ci
15 740.2 -1Z2.0 4 13,2 2 3T6 2.5 0O2 7 $#° 2Ci
18 729.7 -1Z2.8 4 1Z2.0 7
21 740.0 =-16.0 4 10.7 et
24 740.1 -19.0 4 10.8 3
JAN. 1S 03 739.6 -20.9 4 11.3 7
06 739.7 -19.0 4 11.2 6
09 740.0 —16.0 4 11.5 2 10. 1 O+Ac 2Ci
12 740.0 -12.9 4 11.8 2 10. 4 O+Ac
S 740.2 -11.2 4 .5 2 I&6 10. 002 I $° 2Ci
18 741.1 -11.8 4 7.1 2
21 742.0 =-12.2 4 6.7 2
24 742.1 -1S.2 4 6.0 2
JAN.1& O 747.6 —-15.0 4 6.2 2
0& 744,.1 -1S5.2 = 7.9 2
09 744.4 -14.7 3 8.8 10- 10. 1 10-As
12 744.2 -13.2 4 7.6 10— 10. 8 10-As
15 742.4 -12.9 S 5.9 2 36 10. 020 7 +° 2As
18 741.9 -14.9 4 7.0 7
21 740.9 -17.9 4 6.3 6
24 741.0 =-20.5 4 Q.0 S
JAN. 17 02 740.9 -22.1 4 8.4 8
06 740.5 =-20.0 4 10.0 8
09 740.2 -19.2 4 9.9 8
12 729.0 =-16.9 4 10.32 7
1S 728.0 =-15.7 4 11.0 O 3I6 10. QOO 6
18 727.23 —-16.1 4 10.2 7
21 737.2 -19.3 4 10.2 S
24 737.1 -2Z.0 4 10.5 7
JAN. 18 03I 736.7 -25.95 4 12.2 8
06 735.1 -25.6 4 14.5 6
09 733.5 -22.2 4 1Z2.8 O 3TI6 2.0 000 7 4
12 733.2 -17.6 4 12.2 0 36 E.0 000 &6 °
S 732. -15.7 4 11.2 0O 36 5.0 000 6 PP
18 732.2 -16.0 4 Q.9 7
21 732.2 -19.0 4 9.5 S
24 7322. -21.8 4 10.9 2




Date LT Fst Ta DD v N  ww V Cl1CmCh a Fhenomena
(1985) (mb) (°C) (16) (m/s? (km)

-21.9 11.7=
-19. 10.0
-135 12.0

11.
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10 I8 1.0 01X +° 10As
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E20d 951

=90 idNON P
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Phidbbbprb
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Or~=NO
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JAN.21 OZ 74Z.2 -22.8 4 8.0 7

06 742.7 =22.272 4 10.Z 7

09 742.0 =20.0 4 10.4 6

12 741.5 -18.0 4 ?.6 7

15 741.0 =16.0 4 ?.5 O+ 02 T0. O30 7 Orfc

18 741.0 -16.5 4 8.4 4

21 741.8 -19.& 4 8.2 =

24 742.9 -2Z.2 4 8.5 2
JAN.22 02 743.1 =-22.6 4 7.5 (&}

06 742.6 -20.4 4 8.9 7

09 742.1 -19.8 4 2.0 8

12 740.9 -18.0 4 7.4 7

S 739.4 -16.2 4 8.9 1 02 ZO0. OZ0 7 1Ac

18 738.9 -16.2 4 8.9 6

21 739.0 -19.6 4 8.5 =

24 739.8 -2Z.4 4 10.4 1
JAN.2Z OZ 740.1 -25.2 4 11.0 1

06 740.2 -24.9 4 11.6 =

09 740.4 -21.0 4 10.5 2

12 740.2 -16.9 4 10.0 8

S 740.7 -15.5 = ?.2 10 T6 2.0 02X I P 10As

18 741.2 -16.0 = 7.2 =

21 741.6 -18.8 4 S.9 2

24 742.9 -20.6 4 6.2 1
JAN.24 OZT 74Z.0 -27.8 4 6.0 2

06 744.0 -22.6 4 6.4 2

09 744.27 -19.1 = 6.0 2

12 745.0 -1S5.0 2 .2 2

15 745.0 —-1Z2.92 2 1.2 4 02 IO, 04X 4 4Ac

18 745.2 -14.8 4 1.9 1

21 745.6 -17.2 = T.6 2

24 746.0 —-19.0 0= 5.0 1



Date LT Fst Ta DD UV N ww V Cl1CmCh a Fhenomena
(198%5) (mb) (°C) (16) (m/s) (km)

JAN.2S 0 746.0 =-22.0 4 8.2 4
06 746.1 -2T.2 4 9.1 2
09 746.1 -22. 4 ?.95 4
12 746.4 -17.2 = 7.9 =
S 746.8 -15.0 = 7.7 1 6 Z0. 02X 2 $° 1As
18 747.> -15.5 > 7.8 2
21 748.2 -17.8 4 8.5 2
24 749.2 -19.2 4 Q.0 2
JAN.26 0% 749.2 -21.2 4 .2 Q
06 749.1 -19.9 4 11.6 7
09 749.32 -17.1 4 2.2 =
12 749.5 -15.0 4 12.9 1
S 749.2 -12.8 4 .9 8 36 1.0 004 7 +* 8Ci
18 749.0 -15.0 4 13.1 6
21 749.5 -18.8 4 13.3 3
24 749.8 -21.7 4 15.35 2
JAN.27 OZ 749.1 -22. 4 15.6 6
06 749.1 -21.5 4 15.6 4
09 748.6 -18.°95S 4 16.8 7
12 748.27 -15.8 S 17.0 8
S 747.9 -14.8 S 15. O 36 1.0 Q00 & 4+t
18 746.1 -16.8 S 14.0 8
21 7435.1 =-20.2 S 15.6 7
24 744.4 -21.9 5 14.0 8
JAN.28 03I 744.2 -27.0 5§ 1=2.8 6
06 74Z.2 -21.0 4 13.8S 6
09 74=2.2 —-18.0 4 17.4 4
12 747.1 -14.8 4 12,1 9 36 1.0 8 ! 9as
15 742.7 —-13.0 4 10.5 4 36 1.0 02X 6 $* 4As
18 742.2 -132.6 4 8.1 7
21 742.4 -15.S5 4 8.2 3
24 742.7 -16.0 4 8.1 [»
JAN. 29 03I 742.4 -17.2 4 8.4 7
06 741.7 -19.0 4 10.2 7
09 741.5 -16.2 4 8.9 7
12 740.1 -14.0 4 1Z.0 7
15 740.9 -12.5 4 8.0 9 36 1.0 02X 3 ¥ 9As
18 741.1 —-12.5 4 .6 =
21 741.1 -14.0 4 8.7 S
24 741.9 -16.9 4 10.0 2
JAN.ZO QX 741.2 -17.0 4 5.8 8
06 742.2 -16.8 4 11.0 1
09 741.2 -15.95 4 16.1 7
12 741.2 -1=.2 4 14. = Q.20 0
15 741.2 -12.0 4 11.7 10 3T7 Q.30 Q02X S $#* 10As
.18 741.0 -12.8 4 11.5 4
21 741.6 -14.7 4 11.0 =
24 741.4 -18.0 4 1Z.0 S




Date LT Fst Ta DD w N ww v Ci1CmCh a Fhenomena
(198%5) (mb) (°C) (16) (m/s) (km)

JAN.Z1 O0Z 742.1 -19.1
06 742.2 -19.
09 742.2 -16.

12.6
11.2

12,

) an
wt

12 742.7 —-14.0 10.0 5 I8 1.0 0o8 +° SCs
S 742.7 —-1Z.0 9. ? I8 1.0 01X +° QAs
18 74=.2 -1Z.5 8.

8.
11.

R R N A A L )
[y B S 9 I S (8 I

LMo r

21 743.5 -18.
24 744.1 -19.

o

FEE. 1 O 743.8 -20.6 4 12.6 8
06 743.7 -21.3 4 12.2 6
09 743.8 -18.6 4 12.7 =
12 744.1 -15.8 4 13.2 2
S 744.9 -1Z.7 4 10.1 2 02 10. 001 2 2Ci
18 745.1 -14.8 4 7.9 2
21 745.5 -18.9 4 8.3 2
24 745.6 -22.7 4 9.2 a4
FEE. 2 O 745.1 -23.3 4 11.1 6
06 744.1 -23.0 4 10.3 8
09 74T.4 -19.0 4 11.4 7
12 742.1 -15.1 4 11.9 O 02 10. 000 7
S 741.4 -1=2.7 4 10.7 0 02 10, 000 6
18 740.7 -14.9 S 9.8 6
21 739.8 -18.9 S 9.0 7
24 739.6 -21.2 4 10.0 6

FEEB. = 0OZI
06
09

1)

-24.

-)
(A

-19.

12 . -16. 02 10. QOO0
S -14. .2 O 02 10. Q00

18
21

24

-15.
-20.

-24.
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WO NN R)

pPbbbUbbLb
—
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H

B G4 R i NN NN

OHONPO -

FEE. 4 0T 740.1 -27.2 4 8.9 2
06 741.0 -27.0 4 8.7 1
09 742.0 -24.0 4 ?.0 =
12 742.2 -20.7 = 7.0 2
15 742.7 -18.1 = 6.0 O 02 ZT0. 000 2
18 742.0 —-18.2 = 4.2 2
21 74Z.2 -23.5 = S.2 2
24 747.S5 -26.1 = S.7 2
FEE. § OZ 74-.2 -28.8 2 6.4 8
06 7427.5 -26.5 2 z.6 z
09 74=Z.6 -21.35 = 2.4 =
12 7427.4 -21.5 4 .1 10- 02 10, 01X 8 10-As
S 74Z.0 —-17.0 1S 1.2 O 02 Z0. QOO 7
182 742.9 -19.2 8 1.2 7
21 742.5 -24.6 6 5.0 7
24 742.2 -28.7 (=) s e




LT

Fst

Ta

(1285 (mb) (°C)

FEER. & 03I 741.9 -Z20.0
06 741.4 -28.6
09 741.7 -25.0
12 742.2 -20.2
15 742.2 -17.8
18 742.4 -19.0
21 742.35 -20.95

24
FEE. 7 O
06
09

FEE. 8 03I
06
09
12
1S
18
21

24

FEE. 9 0OZ
06
09

FEE. 10 0O

.11 0=
06
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12
15
13
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e
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741.1
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738.4
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7Z0.4
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732.8
733.7
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Date LT Fst Ta DD w N ww ¥V Cl1CmCh a Fhenomena
(198%5) (mb) (°C) (16) {(m/s) (km)

FEEB.12 032 7
06 73
09 7=

12 7

S 721.9 —-15.95
18 720.6 -16.0
21 7292.8 -19.0
24 729.0 =20.0

10.7

10.6

10.8

11.2 1 R 1.0 010
.5 1 ZT6 1.0 Q10
8.0

=l
- o

B.6

+! 1As
+' 1As

NNNO NN N

DD

FEER.1Z OIZ 728.4 -19.
06 727.7 -19.
09 727.4 -16.
12 727.4 -15.

8.2
10.4
9.7
10.8

>N @

15 727.4 -14.73 10.0 10 29 0.10 02X 2 10As
18 727.2% -14.8 10,3
21 727.4 -18.0 .2

B S Y IS S (Y

RN PPN

24 728.4 -22.5 6.0
FEE.14 OZ 729.1 -24.7 6 4.9 =
06 728.7 -21.5 = 2 S
09 728.6 -21.0 I 10.7 S
12 728.8 -192.0 3 11.7 2
S 729.1 -18.2 = 8.5 8 02 10. 012 1 BAs iCi
18 728.7 -18.5 = 7.9 8
21 729.1 -22.5 4 6.5 2
24 729.% -25.8 4 9.2 1

FEE.1S OZ 728.95 -27.0 4 9.9 7
06 728.0 =-27.2 4 11.4 7
09 728.7 -2T7.7 4 11.3 =

12 728.6 -20.0 4 11.2 (@] 6 S.0 000 2 P°

S 729.2 -18.9 4 2.5 O T6 S.0 000 2 o
18 729.4 -20.4 4 8.1 2
21 720.5 -24.6 4 8.7 2
24 721.4 -27.5 4 9.2 2
FER.16 02 7231.8 -29.2 4 10.0 2
06 73I2.2 -29.0 4 .5 2
09 772.8 -25.0 4 10.6 =
12 722.6 -20.5 4 8.4 O 02 10. OO0 2
S 734.0 -19.0 4 6.8 O 02 10. 000 2
18 724.2 -21.0 4 6.2 1
21 734.6 -27.2 4 7.4 =
24 735.1 -28.0 4 8.0 1
FEE.17 O 72S5.2 =-Z0.0 4 8.0 2
06 724.7 -29.5 4 7.9 38
09 774.2 -2S5.2 4 8.0 7
12 724.S -172.8 3= 6.1 Z

S 774.8 —-16.7 1S 2.9 7 02 10, 29 2 4A= ZCc

18 724.7 -16.5 195 1.2 3
21 9.5 -27.0 195 1.0 2
24 7T6.7 -Tt. 4 1.2 =



Date LT Fst Ta DD W N ww V Cl1CmCh a Fhenomena
(198%) (mb) {°C) (16) (m/s) (km?)

FEE.18 03T 737.2 -33.2 4 5.0 2
06 737.8 -3IZ.4 4 6.4 1
09 738.6 -29.% S 8.7 2
12 739.2 -24.0 4 7. 2
15 729.2% -21.0 4 S.6 6 o1 10, 008 2 6Cs
18 739.7 -2Z.% 3= 4.8 3
21 740.4 -2T.0 4 4.4 =
740.8 4 6.5 1

24

|
r)
b

FEE.19 OZ 740.6 -24.5 4 8.1 7
06 739.7 -24.5 4 8.5 7
09 738.9 -24.6 4 10.5 6
12 727.3 -21.0 4 12, 10 ZT6 0.50 007 7 $#2 10Cs
15 738.8 -20.0 4 12,1 10 3IT6 0.350 007 7 ¥ 10Cs
18 734.2 -19.9 4 12.0 7
21 733.6 -20.2 4 1301 7
24 733.7 -20.7 4 12.2 I

FEE. 20 03I 73Z.8 -21.2 4 11.7 2
06 734.2 -21.0 I 10.6 0
09 736.1 -19.8 = 8.5 =
12 737.7 -18.0 = 7. 2
15 738.7 -17.0 =% 11.9 10 72 0.70 02X 2 ¥ 10As
18 739.2 -17.5 = 11.1 1
21 740.7 -19.5 13 4.3% It
24 741.5 -21.5 4 4.= 1
FEER.2Z21 O3 741.1 -22.7 4 6.1 1)
06 740.6 -24.8 S 8.2 8
09 740.6 -23.5 4 8.1 4
12 740.1 -20.0 4 7.0 2 IT6 10. 8 $°
15 739.7 -192.0 4 6.9 2 I6 10. 070 7 $° 1As 1Ac
18 728.7 -21.0 4 7.5 7
21 738.1 -22.0 4 10.2 6
24 736.2 -25.2 4 11.2 8

FEEB.22 03I 735.7 -25.0 4 12.2 7
06 724.2 -26.0 4 10.5 7
09 732.8 -24.0 4 12.3 7
12 771.7 -21.8 = 10.2 7
S 730.8 -19.5 = 7.6 T 0Z 10, 0Z0 7 ZAc
18 770.2 -21.% 2 6.1 7
21 729.85 -2Z.5 = 7.3 1)
24 728.8 -22.6 2 7.9 8

FER.Z2TZ 03I 728.7 -24.73
06 728.2 -22.9
09 728.6 -20.4
12 728.9 -18.2
15 729.2 -18.0

7I0.0

10 28 0.70 028 +° ZAs 7Cs

DRSS O I 5 I 5 I O I IR

FIR R R W N O

MO0 OOom~
)0 R AN
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Date LT Fst Ta DD wV N ww V Cl1CmCh a Fhenomena
(198%S) (mb) (°C) (16) (m/s) (km)

MAR. 2 OZ 730.8 S 11.8 2
06 7Z21.0 S 12.6 2
09 721.8 S 1=Z.8 2
12 721.9 S 14.2 X 9 0.0S XXX 2 2
S 73Z.0 S 15.5 X 9 0.05 XXX 2 32
18 734.9 S 14.9 2
21 727.4 S 14.95 2
24 738.9 S 14.8 2
MAR. 3 03I 739.7 =-38.9 S 14.9 2
06 729.7 -28.9 S 13.9 4
09 778.8 -34.8 S 14.95 7
12 72Z9.1 -Z1.2 S 12.5 0O 339 0.03 000 O 32
S 738.S 2 S 12.8 0 I9 0.05 QOO 7 32
18 728.8 R 1Z2.0 2
21 739.9 TS 14.0 2
24 779.8 1 S 14.2 2
MAR. 4 OZ 7239.5 -34.2 S 12.6 7
06 739.2 -Z4.8 S 12,32 8
09 778.7 -I3.3 S 14.¢6 &
12 737.6 -29.7 S 14.7 7
15 726.7 -27.5 S 1Z2.7 O 29 0.25 QOO 7 3t
18 735.5 -29.2 S 16.32 7
21 7 ? -Z1.8 S 16.7 7
24 7 2 =-Z2.9 S 16.8 7
MAR. S OZ 730.6 ? S 17.1 7
06 729.4 4.2 S 17.6 7
09 727.5 -Z1.0 4 17.8 7
4 4 16.6 O 3I9 0.05 000 T P2
9 4 16.0 O 39 0.05 000 2 32
8 4 15.0 2
S 4 14.9 1
? 4 14.0 1
MAR. &6 OI 723.6 -28.2 4 12.32 2
06 774.4 -27.S5 4 12.0 2
09 735.6 -24.0 4 12,73 2
12 736.0 -22.7 4 15.1 2
S 736.9 -22.4 4 12.2 0O T9 0.10 OO0 2 32
18 737.4 -26.0 4 12.1 2
21 T7.9 -29.4 4 12.1 2
24 777.6 -31.2 4 12.2 7
MAR. 7 OZ 737.1 -31.9 4 1=.1 7
06 736.6 -Z1.7 4 13.0 7
09 7T6.5 -29.7 4 12.7 ]
12 736.2 -26.4 4 12,1 0O 3IT6 0.50 Q00 8 42
S 735.3 -24.1 4 11.2 1 6 1.0 020 7 41
18 774.5 -25.6 4 11.6 7
21 734.4 -29.0 4 12.6 7
24 724.1 -Z0.0 4 12.7 7




Date LT Fst Ta DD WV N ww V ClCmCh & Fhenomena
(1985 (mb) (°CJ (1&) (m/s) (km)

S 7I2.7 -24.
18 732.3% -26.
21 731.9 -28.
24 730.7 -29.

)
0
o
-
X

9

7
12 722.0 =-26.4

8 +!' SAc

4

1

9

FN N N N S NN
—
B b
0

ONNNNW NN

MAR. 9 0T 729.4 -29.5 15.0 7
06 15.2
09 728.7 -24.0 15.0

12 729.0 -22.5
S 729.7 -21.4
18 730.2 -21.8
21 730.6 -27.8
24 730.8 -24.0

14.0
14.0 10 29 0.05 XXX
14.C

14.2
14.=

;,2

g S S R N Y S )

IDEDNSHPNS

MAR. 10 OZ
06
09

12

13,
14,
11.
11.

N NN T TS
ouoo

S 731.3 =-23.2 12.0 9 ZI6 1.0 024 1 2As /CE
18 730.4 -24.6 12.2 7
21 730.1 -27.2 12.9 7
24 729.0 -29.0 1=.8 7

MAR. 11 OZ 722.8 -29.2 4 1Z.6 &

06 726.5 =-30.5 4 12.8 7

09 25.8 -28.2 4 1Z.9 7

12 726.0 =-25.2 4 12.6 7

S 726.1 -24.4 4 11.8 1 6 S.0 010 7 +° 1As

18 726.5 -27.2 4 10.5 2

21 726.8 -T0.S 4 11.2 2

24 727.6 -22.8 4 10.5 2
MAR. 12 OZ 727.8 -22.8 4 10.2 2

06 728.1 D) 4 Q.= 2

09 728.8 - 1 4 9.2 2

12 729.4 -26.8 4 7.2 1

S 730.1 -25.4 = 2.4 2 02 10. 004 2 2Ci

18 7Z0.8 -27.5 = 4.0 2

21 721.7 =-26.0 z 2.4 =2

24 731.9 -26.1 1 Z.0 1
MAR.1Z 02 731.2 -27.95 1 .6 (=]

06 7730.4 -26.0 1S5 .2 7

0% 730.2 -25.0 1= 5.5 6

12 722.8 -24.6 12 2.7 5]

15 728.9 -2Z2.7 12 5.2 10 71 O.70 01X 7 10As

18 727.7 -28.5 11 2.0 7

21 726.2 -27.72 1 .2 7

24 722.8 -26.6 14 4.2 7



Date
(1989)

MAR. 14

MAR. 1S3

MAFR. 16

MAR. 17

MAR. 18

MAR. 19

Fst
(mb)

Ta
(°C)

DD
(16)

WV
(m/s)

N ww V
(km)

ClCmCh

0=
06
09
12

=
~J

18
21

24

Q3
06
09

0=
06
O

12

=
-J

18
21

24

(814
06
09
12

=
-

18
21
24

-—

0z
06
09
12
15
18
21

24

722.

721.7
721.7
722.

724.2
724.6
725.1
724. =

72Z.8
724.0

723.5

-

RNl e

N

D LR R 2
w

N

740.1
741.0
741.6
742.0
741.8
741.5
741.2
740.7

740.0
739.5
7329.9
739.1
740.0
740. =
741.4
742.1

742.0
742.9
74=.5
744.0
744.1
74=.9
7473

742.6

-27.6 16
-26.0 16

-25.5

P PR

PhbbPbpPphrbp

-Z2.0
-54.0
-26.5
-38.0

PPbbbbPPp

-38.9
-29.2
-27.5
-24.7

-Z4.2
=37.0
-I8.1

PP bhbbhbbbpb

-38.2
-38.5
-Z6.6
-I3.1

—tan e )

-35.0
-28.0
-29.0

maameooan

amamaeaanegan

14.6
12,3
12.9
14.0
1Z.1
1.5
1Z.8
14.5

14.1
1Z.5

14.2
1Z.1

12.2

-~ =
e J

14.9
15.1

14.6
14.2
12.9
16.2
1Z.4
1Z2.7
12.1
2.5
12.1
11.9
11.5
11.1
9.2
10.5
11.8
11.0

<20

10 28 0O

0.05

0.09

4 ZT9Q 0.10
0O I9 0.20
0O 7 0.20

O TI7 0.20

@) 6 2.0

XXX

XXX
XXX

o2X

000

QOO

QOO0

Q00

a Fhenomena

_?‘2

(10 BRI 5 B - |

04]

-

k) b)) L L D N

_?,‘,2

[DESESESENESEONS)

NONN =)

6
8
-
IR
7
2 ‘i-:..'{
=l
<~
-
-~
-
=)

i..&

SNMNNERRE)

44s




Date LT Fst Ta DD wW N ww Vv Cl1CmCh a Fhenomena
(198%5) (mb) (°C) (16) (m/s) (km)

MAR.2Z20 OZ 742.3 -Z9.7 4 ?.4 7
06 741.7 -40.0 S ?.8 7
0% 740.6 -Z7.0 S5 10.2 7
12 740.7 -32.7 S ?.9 S
S 739.9 -Z1.0 5 1Z.0 1 IZ6 1.0 002 7 P 1Ci
18 729.5 -Z2.6 S 12.95 6
21 739.4 -Z4.7 4 11.6 8
24 739.0 -3I5.5 4 10.0 1)
MAR.21 0OZ 738.4 -Z6.1 4 8.8 7
06 737.8 -35.6 S .2 7
09 737.5 -Z2.1 4 10.2 S
12 737.8 -28.7 4 11.9 1
S 738.0 -26.1 4 12.0 10 IZ6 1.0 007 2 4 10Cs
18 728.8 -26.8 4 1Z.1 2
21 739.6 -26.2 4 12.8 2
24 740.7 -25.8 4 14.7% 2
MAR.22 02 741.5 -2Z.6 3 11.%= 2
06 742.9 2.2 I .2 2
09 744.1 -22.9 4 ?.5 2
12 745.2 -20.9 = 8.7 2
S 746.0 =20.5 = 7.6 10 02 5.0 007 2 10Cs
18 746.0 -22.1 4 7.5 4
21 745.8 -23.2 4 7.9 7
24 745.1 -2T.5 4 8.6 7

MAR.2T O0Z 744.2 =27,
06 742.5 -24.
09 742.2 -2T.
12 729.4 -21.

OONOC OO

FN NN NN T NN
N

CCMOo oo -
©

N N ENENENENEN|

18 737.8 -=-20. 01 ZO0. 0o8 8Cs
18 735.8 -21. 9.
21 734.35 -22.0 10,
24 7IT.I -2T.4 9.
MAR.Z24 OZ 732.6 -2Z2.9 4 8.7 7
06 721.7 -24.1 4 7.9 7
09 7Z1.6 -25.1 4 7.4 S
12 731.6 -24.5 4 7.Z 4
S 731.6 -24.5 4 7.4 I IT6 IO, 078 4 0 1Ac Gl
18 7Z1.7 -28.2 4 8.0 =
21 732, -29.5 4 8.% =
24 732, -29.2 4 8.5 2

MAR.2S 02 8 4 8.0 2
06 4 4 8.9 2
09 1 4 7.7 2
12 ? 4 7.0 8
S 4 4 6.4 1 02 0. 008 7 1Cs
18 8 4 6.2 4
21 S 4 6.8 2
-4 3 4 5.8 =




Date LT Fst Ta DD vy N  ww ¥ CICmCh & Fhenomena
(198%) (mb) (°C) (1&6) {(m/s) {(km)

MAF.. 26 OZ 732.9 -ZZ2.9
06 732.2 -I5.6
09 771.% —-IZ.4
12 7271.4 -Z20.2
S 771.2 =-Z0.7
18 720.5 -Z4.4
21 730.0 =36.0
24 728.9 -I7.0

7 0. O7X
01 0. 08

7Ac
1Ac 1Cs

bbb bbbobh
NN No
K= Q00T
-
NNNO 0NN

MAR. 27 0Z 728.4 -Z7.0 4 7.6 7

06 728.1 -Z4.9 4 6.8 8

09 728.6 =-3I5.7 4 8.2 10 70 =

12 729.5 -35.1 4 6.8 0O+ I6 2

15 730.2 -24.0 4 7.3 O+ I6 10, 008 I 49 0O+Cs

18 730.4 =-Z7.0 4 10.3 2

21 731.1 -28.8 4 11.7 2

24 731.5 -39.7 4 11.4 1
MAR.28 03I 722.0 -40.0 4 11.2 1

06 731.7 -40.2 4 12.5 8

09 721.8 =Z8.9 4 1=3.1 O I6 5.0 000 I PP

12 731.% -3S. S 1Z.3 0O IT6 2.0 000 &

1S 730.8 -38.2 § 12.4 © 36 1.9 QOO0 7 4

18 720.2 =29.7 5 14.1 7

21 720.1 -40.5 S 3.0 S

24 729.8 -40.2 5 1S.2 7
MAR. 29 02 729.7 -40.5 5§ =

06 729.4 -40.1 S 8

09 730.0 =39.0 5 (o Tt 1.0 2

12 720.2 =-36.0 4 o I6 1.0 1 4

15 730.4 -25.0 S o 6 1.0 Q00 2 4

18 720.4 -28.0 5§ (8]

21 729.8 =-40.0 5 7

24 7270.0 —-41.6 S 2
MAR.Z0O O 729.5 —-42.1 ] 1Z.0 7

06 728.8 -4Z.3% S 12.8 6

09 727.9 -42.9 5 14.0 7

12 727.2 =-40.6 S 13.27 O I8 .70 000 7 30

18 726.7 -39.9 S 12.2 0 I8 0.70 000 7 $°

18 725.2% -41.5 © 14.0 7

21 724.4 -42.5 S 14.4 X 8 0.850 XXX 7 %

24 723.6 =-437.2 S 1=.8 7
MAR.Z1 O 722. -4=.9 S 16.2 7

06 721.6 -44.0 S 15.5 7

09 720.2 -44.2 S 15.4 7

12 719.1 -4Z.0 5 15.8 0O ZI9 0.10 OO0 7 %2

15 718.0 =-42.6 § 15.8 O 329 0.10 Q00 6 2

18 716.8 -44.0 < 16.1 7

21 716.0 -45.0 5 16.2 7

24 715.8 —-4%5.1 S 1S5. 32 &




Date LT Fst Ta DD wy N ww Vv Cl1CmCh & Fhemomena
(198%) (mb) (°C) (16) (m/s) Chm)
AFR. 1 02 716.1 —-45.72 S 15.0 1
06 716.9 -45.0 b 14.0 =
09 718.5 -44.0 4 14.8 2
12 719.8 -29.95 4 1Z.1 2
1S 721.7 -27.8 4 12.9 O 29 0.20 000 2 2
18 721.9 -29.2 4 1Z.8 2
21 722.2 -39.1 4 14.72 1
24 722.7 -I37.2 4 15.1 1
AFR. 2 02 725.6 2 4 16.1 2
06 726.5 7 4 16.0 2
09 728.0 O 4 17.0 2
12 729.2 -20.Z 4 16.8 2
S 730.4 -29.72 4 16.6 10 732 0.05 X2X 2 a2 108s
18 720.6 -29.2 = 17.0 2
21 721.86 -29.4 = 16.2 2
24 732.5 -Z0.1 T 16.2 2
AFR. T O3 1 8 T 15.2 2
06 > T4 16.0 =
09 734.1 S 4 14.7 2
12 7324.7 2 4 1S.0 0.10 2
S 735.4 1 4 12.6 4 29 0.20 008 2 2 ACs
18 736.2 S 4 13Z.S 2
21 736.2 2 4 14.0 4
24 727.2 4 4 1Z.0 =
AFR. 4 OZ 7327.1 2 4 12.5 7
06 726.72 9 4 12.5 7
09 736.73 8 T 10.9 4
12 726.3 (@] 4 10.0 4
S 736.3 1 = 8.0 10 =8 1.0 019 4 3° SAs 10Cc
18 735.6 S 4 8.6 7
21 735.1 4 4 10.5 8
24 72Z2.7 O 4 10.7 8
AFR. S 0Z 722.2 -Z2.1 4 12.95 7
06 730.7 -29.4 4 14,0 7
09 770.4 8 4 15.0 ]
12 729.9 9 z S.6 0,09 =1
S 729.95 6 T 15.9 10 71 0.0S5 Q22X O 32 10AQs
18 720.2 0O T 16.0 =
21 731.4 -21.9 = 1S.0 2
24 722.9 -21.2 I 14.9 2
AFR. 6 OZ 73T2.2 -21.1 = 15.6 2
06 734.4 -21.2 T 15.5 2
09 736.0 -22.7 4 15.6 2
12 727.2 -21.2 2 14.9 0.0S 2
S 727.4 -21.2 T 1Z.1 10 71 0.0S 01X 2 w32 10As
18 736.4 -22.°% 4 15.2 8
R { 4 15.0 7
4 14.2 7




Date LT Fst Ta DD w N ww \V Cl1CmCh a Fhenomena
(1989) (mb) (°C) (16) (m/s) (km)

AFR. 7 O3 73I2.3 27
06 730.3 -27.3

09 728.9 -Z

z 15.6
9

12 729.4 -25.9
1
>

17.0
18.8
17.5
15.1 10 I9 0.08 0s9
15.0
12.9
15.4

S 729.4 -26.
18 730.5 -26.
21 731.4 -29.0

24 733.3 -30.0

+2 TAc 8Cc

PUDPHEPPH
AR PLEHNND

AFR. 8 O 735.4 -I0.6 4 12.0 2
06 737.2 =Z21.0 4 12.0 2
09 779.9 -31.8 4 10.9 2
12 742.4 -321.2 4 10.4 2 36 1.5 2 # 2As
15 744.3% -31.8 4 .2 0O 3I6& S.0 000 2 o
18 745.7 -24.2 4 10.0 2
21 747.1 -35.5 4 Q.3 z
24 748.2 -3Z6.1 4 10,1 1
AFR. 9 OZ 748.8 0 4 10.0 2
06 748.8 7 9 9.9 =1
09 748.9 8 S 10.3 2
12 748.3 e 1 S 12.2 0O I6 2.0 000 7 44
15 746.8 - 0O S 15.9 © Z7 0.50 000 8 +2
18 745.5 7 = 15.7 7
21 74Z.0 S S 19.0 7
24 741.6 S 9 20.0 7
AFR.10 OZ 740.2 S 9 18.8 8
06 729.1 6 S 19.0 7
09 738.5 O S5 19.0 T I9 0.05 005 7 32
12 738.8 4 S 18.2 I I9 0.0S 00S 0O P2
S 738.2 Iz S 18.5 I ZI9 0.09S 00S 7 % ICs
18 736.7 =-24.8 S 18.7 7
21 726.5 -36.0 S 18.2 7
24 735.8 -36.7 S 17.7 7

AFR.11 03 738.9 -3Z7.
06 734.4 -3Z9.
09

17.=
17.0
17.0

12 16.2
S 14.2 10 ZI9 0.10 01X 10As

18
21 730.4 -Z4,
24 729.1 -3E.

14.6
15.=

15.4

NP0 O0E 0D
PhbbbhpbUW
NN NN NN
4
»

AFR.12 OZ 728.7 -Z1.0 4 14.2 1)
06 728.5 -29.5 T 13.2 7
09 729.1 -27.4 3 2.2 3z
12 730.2 -28.7 = 12.0 2
S 731.2 -25.7 2 10.8 10 I9 0.20 02X 2 $2 10As
18 722.0 =26.0 = 10.9 1
21 2.9 =26.7 = 10.5 2
24 73T, -29.% 4 9.4 2



Date LT Fst TaA DD (A% N ww oV CiCmCh & Fhenomena
(1985) {mb) (°C) (16) (m/s) {km)

AFR.1Z2 OZ 73 Z 4 ?.8 =
06 7 2 4 10.C 8
09 732 2 5 10.8 T IT6 0.S50 0OS 7 ¥ ICs
12 721 7 = 11.4 Z 36 0.50 00gS 7 2 3=Cs
S 7I70.9 =-Z6.0 S 11.2 2 Z6 0.50 Q0SS 7 ¥ 2Cs
18 729.5 -Z29.5 S 11.1 7
21 728.5 -Z9.8 4 12.0 7
24 727.5 -41.0 IS 10.9 7
AFR. 14 OZ 726.1 —-42.2 S .6 7
06 724.6 -4Z.0 S 9.8 7
09 722.4 -4Z2.6 4 ?.0 7
12 722.5 -42.1 S .2 0O Ib6 S.0 000 7 2
15 721.7 -41.7 4 8.8 0O I6 5.0 000 & 2
18 720.9 -42.4 =] 6.7 7
21 721.2 —-43Z.2 = 7.0 =
24 721.2 -Z28.8 2 2.6 4
AFR. 15 02 721.9 =-37.1 2 6.0 2
06 722.3 =26.0 1 4.0 2
09 724.6 -36.6 3 4.7 10 71 02X 2 10ARs
12 726.5 -Z4.8 = 6.0 10 71 0.80 02X 2 % 10As
S 727.5 -Z21.2 2 7.8 10 71 0O.320 02X 2 108
18 728.5 -Z71.2 2 7.2 2
21 729.5 -21.1 2 S.7 2
24 729.5 -29.8 2 6.0 4
AFR. 16 02X 1 4 4.8 =
06 0O 4 S.8 8
09 O 4 6.5 7
12 O 4 6.0 7
S 0O 4 6.7 10 76 1.5 017 7 -~
18 6 4 6.8 7
21 S 4 7.8 7
24 e & 4 7.7 7
AFR. 17 O3 7 4 6.9 2
06 > 4q 7.8 2
09 2 4 8.2 >
12 724.9 -Z27.2 4 9.3 1
S 726.7 -39.2 4 ?.1 10 36 1.5 QO7 2 4t 100
18 727.35 -41.0 4 8.8 2
21 728.4 -42.0 4 ?.Z 2
24 728.9 -42.= 4 9.7 2
AFR. 18 02 729.8 —-44.1 4 11.9 2
06 720.9 —-42.9 4 2.5 2
0@ 772.5 -42.2 4 12.6 2 SCs
12 724.27 =-40.0 4 14.1 2
S 736.2 -40.5 4 14.6 10 IT9 0.05 000 2 2
18 728.1 —-4Z.0 4 14.4 b
21 739.4 -42.S = 5.2 2
24 740.2 -43.7 S 14.2 1



Date LT Fst Ta DD vy N ww V Cl1CmCh a Fhernomena
(1985 (mb) (°C) (16) (m/s? (km)

AFR. 19 0OZ 740.2 -43Z.8
06 739.2 ~44.2
09 728.0 -44.2
12 738.1 —-43.2
18 728.1 —-42.1
18 739.0 -I9.5
21 740.1 -39.2
24 740.1 -40.3

14. G
14.0Q
14.8
12.3
1=Z.1 0O 39 0.10 OO0
14.0
14.5
12.9

_';_.2

SR B NN b

AFR.20 0Z 738.9 -432.4
06 736.9 —-44.5
09 734.65 -47.7

13.0
13.7
15.7

12 732.2 -42.7C 16.0 0 Z9 0.09 000 E
S 731.6 -42.1 15.9 O 29 0.0S 000 32
18 730.6 —-42.6 15.5

21 730.2 -42.4
24 7370.2 =43.0

17.0
16.8

mMpPppbprpnOI» bbhbbhbpPbunm

PNNMPNNNN

APR.21 O3 730.0 —-43Z.0
06 729.6 -4Z.0

09 729.3 =42.9

12 729.% -41.8

S 729.6 -41.C

18 729.4 -42.0

21 729.7 —-42.0

24 729.6 -41.1

16.0

16.5

15.4

16.5 0. 05

14.5 ¢ 329 G.10 OO0
16.2

15.32

16.0

NN PO NN

PN bPOPOO

AFR.22 03 729.6 -40.0
06 730.4 =-3Z9.0
09 731.4 -329.0

12 732.2 -3B.0

-~ - B A

18.2
16.0
14.8
14.9 © 39 0.10 QOO
15.1 © I9 0.10 QOO
14.5
14.0
12.0

= > - ~
- St e am TS e

18 724.1 -Z7.8
21 734.9 -37.7

24 735.5 -3I8.1

Phbhbbbbbb

EYEIRIEIR E)E) D

21 737.5 -40.9

24 7738.2 -41.2

15.8
1Z.7

APR.2Z OZ 736.0 -38B8.6 4 12.7 2
04 735.8 -28.7 4 12.6 8
09 725.7 -39.0 S 14.5 S
12 736.2 =-28.6 4 16.0 O 392 0.05 000 2 B2
15 736.7 -7F9.1 4 14.5 O I9 0,10 000 2 %2
18 737.2 -40.5 4 S.0 2
4 =
4 2

AFR.24 02 729.2 -42.0
06 739.7 -42.0

1Z.1
12.4

09 741.1 -41.9 12.0
12 741.9 -41.7= 11.5 0O 329 0.20 000
15 741.9 -41.1 12.1 O T2 0,20 000

18 741.4 -41.72
21 7445.4 -30.5
24 TIR.7 —-4C.4

1Z.2
1Z.9

12.8

-

g S TR S I IR I
NININ PR - R




Date LT
(198%)

Fst
(mb)

= C)

DD

(16)

w

(m/g)

AFR.26 02
Qb6
09
12

=
-

18
21

24

AFR.27 OF
06
09
12

[
-

18
21

24

AFR.28 03X
06
09
12

=
~J

18
21

24

AFR.29 O

06.

09
12

=
-

18
21

24

AFF. 20 OF
06
09
12

=
-

18
21

24

7I9.¢
7Z8.
728.
728.
739.
729.
741.
741.

)

O+ b pido

o~ C

742.
742,
742.
742.
742,
742.
741.2
740.1

oo

N

|

)
NNpsRGoOA

7>0.8
7Z1.8
7=
732

733.
73Z6.
737.

N = g~

77ZI8.
740.
741.
742.
747,
74=.
744 .
744,

o

mMwWo+ P

744,
744,
74Z.
747=.
747=.
74Z.2
742.0
740.8

ymooNNo

-I9.2
-26.7
-Z4.9
-25.0
-36.0
-25.7
-IIZ.6

-T2
Dl e

-28.9
-26.7

-26.2

- D
-t

-24.7
-25.1
-26.6
-26.6

-27.1

T S O N N N N N S N N T S S I S S N N N N N N N S N N N N N N N N NS

Mmoo p

12.7
1Z.7
14. =
1Z.6
1Z.C
12,
12,

1=,

» 0 0

12,
12,
12.
11.
11.
11.
10.
11.

[y

!

~ K= oW:

12,

—
—-
.

ISR4NS R

12,
1=,
14 .«
132,
14,
11.

ok o

11.
11.

-
-
A DO N O M)

-
L
.

C

—
1)
tJ A

-
SRR E)
B SO

O

(0]

10
10

10
10
10

9
9

71
71

z9
z9
z9

6
Z6

O+ T6
O+ 6

9

.19

0.20
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0. 10
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R ATRPCR &
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0.15
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1.5
Z.0
2.0

0O.Z0

000
000

02X

0z7
02X
02X

NN

(R SR NS

NONNHRWoR

MmN NNNNN

_?_,2
4_,2

-fe?
w2 10As

ER VS

2Ac 8Cs
10As
10As

6
0Z8 2 +* 1Ac 8Cs
078 2 ¥ bAc/As Cs
1
1
OO0 I +!' O+AcC
0OZ6 2 $° O+Ac
S
4
6
6
03z 4 + 1Ac 8Ci
036 S 3 2Ac 8Cs
S
7




Date LT Fst Ta. DD vy N  ww Vv Cl1CmCh a Fhenomena
(1985 (mb) (°C) (16) (m/s) {km)

MAY 1 0= S 18.9 6
06 S 19.8 7
09 S 22.0 X I9@ 0.03 XXX &6 %2
12 5 21.8 X I9 0.05 XXX 7 %2
15 S 20.9 X 39 0.09% XXX 6 2
18 S 18.9 1)
21 S 19.0 S
24 4 17.6 8
MAY 2 O3 4 15.6 b
06 4 14.9 7
09 4 15.2 O+ ZI9 .20 030 7 32 O+AcC
12 4 15.1 1 I9 0.30 035 8 %! O+Ac 1Cs
15 4 15.5S 1 29 0.20 0I5 7 %2 1Ac O+Cs
18 4 14.2 4
21 6 4 14.7 S
24 730.7 =-39.2 4 14.4 8
MAY = OZ 730.S -41.0 S 15.9 8
06 720.1 -41.6 5 14.9 7
09 729.6 -41.8 4 14.7 7
12 729.5 -41.2 4 14.0 O 329 0.20 000 5 32
15 729.8 > 4 12.7 0O I9 0.30 000 T
4 12.0 >
4 11.0 o
4 11.2 2
MAY 4 OZ 4 11.8 =2
06 4 11.2 2
09 4 11.8 2
12 4 11.T O I9 0.30 QOO S
15 4 11.1 1 39 0.Z0 005 2 3 1Cs
18 4 11.0 7
21 4 2.9 7
24 4 12.8 7
MAY S OZ = 2.9 7
06 4 11.0 7
09 2 4 11.32 S
12 : S 4 12.2 8
S -28.9 4 11.0 O 39 0.Z0 000 T 3
18 (@] 4 11.5 0
21 1 4 12.5 a
24 1 4 1=.4 4
MAY & O 1 4 1Z.6 =
06 ? 4 1Z.0 2
Q9 2 4 12.8 =
12 7 4 12.8 0 329 0.3Z0 000 2 3
15 2 4 11.7 O 29 0.320 000 2 F*
18 8 4 12.0 2
21 9 4 11.9 =
-4 (6 I 12.9 4




Date LT Fst Ta . DD vV N oww ¥ Cl1CmCh a Fhenomena
(1985 (mb) (°C) (16) (m/s) (km)

MAEY 7 0T %) I 1Z.2 &)
06 .6 T 11.0 7
09 2 T o11.1 7
12 9 T 11.0 6
S ot T 10.8 10 I9 0.I0  O2X 7 ' 10As
18 1 4 10.9 6
21 1 4 11.1 7
24 9 4 11.7 7
MAY B8 OI 730.0 -I8.4 4 10.5 7
06 728.8 -40.7 4 11.1 7
09 728.1 -41.1 4 11.5 7
12 727.% -41.7 4 11.T 4 T9 0.50 0I5 & ' IAc 4Cs
15 727.2 -42.6 4 12.0 2 I9 0.50 0I5 S 4 1Ac 2Cs
18 727.2 -43.8 4 10.7 3
21 727.8 -43.0 4 9.7 >
24 708.4 -I9.4 4 7.6 2

MAY 9 0OIZ 729.3
06 730,
09 7Z0.

2 IT6 1.0

6 1.0 02X

+t 2Cs
+* 10As

AR R R R

== Q-
|
(]
N
-
PPLrPpLrbiidp
o
O PO M)
[

MAY 10 O 73Z2.1 —-40.2 = 5.9 4
06 722.7 -41.2 4 6.5 8
09 722.1 -4Z.0 = S.5 7
12 720.8 —-44.8 4 7.0 O+ OO0 5.0 00g 7 O+Cs
S 729.27 —-46.4 4 8.8 1 I6 0.80 QO3S 7 ¥ 1Cs
18 727.1 —-47.7 4 8.6 8
21 25.2 —-48.1 4 10.32 7
‘24 723T.1 -48.0 4 11.1 7
MAY 11 OZ 721.3 —-48.1 4 12.5 7
06 719.5 —-47.9 4 12.8 7
09 719.1 —-47.0 4 12.9 (=)
12 719.2 -47.2 4 1Z.4 O Z9 0.10 DOO 2 2
S 719.6 —-46.9 4 12.32 Q 9 0.10 QOO 2 P2
18 720.8 —-47.2 4 11.8 2
21 722.0 —-45. 4 10.1 2
24 7227.S —-4%S.4 4 9.2 2
MAY 12 O 25.4 -47.1 4 9.1 2
06 727.1 —-49.0 4 8.7 2
09 728.8 —-49.0 4 10,0 2
R! 1 -48.5 4 10.0 Z 9 .30 00g 2 ! ZCs
S —=47.0 4 11.0 2 T9 0.20 00g I 3?2 2Cs
Z -44.2 4 12.6 8
.8 -IZB.S 4 1Z2.7 8
6 -Z4.1 4 16.1 7




Date LT Fst Ta DD vV N ww V Cl1CmCh & Fhenomena
(1985 (mb) (°C) (16) (m/s) {km)

MAY 12 02 727.1 -Z21.2 T 17.7 7
06 720.4 -28.% I 18B.9 7
09 719.0 -25.8 = 19.S S
12 719.5 -25.0 = 15.8 10 3ZI9 0.05 02X 2 2 10As
g 721.2 -26.0 T 13.7 10 329 0.10 02X 2 2 10As
18 722.0 =26.7 = 16.1 2
21 722.5 -27.0 4 z.5 1
24 724.5 -28.0 4 10.2 2
MAY 14 0% 724.5 -28.2 S 10.0 4
06 724.5 -27.9 4 11.9 (8]
09 726.2 -29.2 4 2.8 2
12 726.3 -Z1.2 4 13.4 8 3Z9 0.10 2 2 8Ac
S 727.8 =-3Z.8 I 14.S X I9 0.20 XXX 2 %2
18 7292.2 -ZF4.2 I 13.9 2
21 730.1 -Z6.3 = Z.2 2
24 731.0 =36.6 T 12.6 2

MAY 1S 02 731.2 =-37.5 4 12.1 2
06 7231.2 -29.2 4 12.3 8
09 771.8 —-40.2 4 11.8 2
12 732.0 -41.2 4 10.8 2 Té6 0.5S0 2 42 2Cs
S 732.0 —-42.7 4 10.2 1 = 1.0 008 4 $* 1Cs
18 731.5 -4Z.8 4 11.0 7
21 771.4 -44.3% 4 10.5 7
24 731.2 -44.6 4 10.9 7
MAY 16 0T 721.1 —-44.9 4 11.2 7
06 731.1 -44.0 4 11.5 4
09 731.5 =44.0 4 12,0 =t
12 732.2 =43.8 4 11.9 O 36 0.50 000 T 2
15 732.8 -44.0 4 14.% O 3IT9 0.10 000 1 32
18 722.6 -4Z.7 4 14.0 2
21 73S.1 -44.2 4 12.95 2
24 738.9 -45.0 4 1IT.3 2

MAY 17 OF 736.2 —-45.9
06 736.1 —46.73
0% 736. =-46.7
12 735.3 —-46.6
15 734.4 -46.2
18 733, =46.2
21 732.5 —-46.0
24 771.8 -44.9

13,2

1.2
14.8
16.6
16.8 (0] 9 0.035 elnle]
16.7
18.5
16.8

_;,2

NONNN PO

(R UNCRONU NN ]

owma b id -

MAY 18 OF 7271.0 —-4Z.7 4 16.9 7
06 7Z0.1 =42.7 4 16.5 7
09 729.% —-42.S5 4 16.2 7
12 728.2 -42.27 4 16.1 O 39 0.10 000 7 2
S 727.2 -4Z.0 4 S.2 O T9 0.10 000 7 32
18 726.2 -342.8 4 14.S 7
21 725.4 -42.4 4 14.9 7
24 725.2 -41.7 4 15.9 S




Date LT Fst a DD W N ww V Ci1CmCh a Fhenomena
(198%) (mb) (°C) <(16) (m/s) (km)

MAY 12 QI 726.2 -42.1 4 14.°9 2
06 726.5 -42.2 4 14.1 2
09 727.4 —-42.1 4 1Z2.8 1
12 728.1 -42.0 4 14.7 2
1S5 728.4 -42.0 4 14.1 QI 0.10 000 2 F2
18 729.0 —-41.8 4 14.5 2
21 7292.0 -42.0 4 1Z.6 S
24 729.2 —-41.0 4 14.2 2
MAY 20 OZ 729.9 -40.0 4 15, =
06 720.1 -Z9.8 4 15.0 2
09 7720.4 -I9.7 4 16.4 2
12 721.2 -29.7 4 15.2 2
S 7I2.0 -40.1 4 16.0 O Z9 0.10 OO0 1 32
Z -39.8 4 S.7 1
7 -29.8 4 16.0 2
1 -29.2 4 1S.2 2

MAY 21 OZ 14.8

06 -40.2 15.0

09 -41.0 15.9

12 -41. 2.2 O I9 .10 000 32
S 16.0 Q 9 .10 QOO 32

18
21 730.
24 729.

18.8
15.¢

15.4

NODoCONND +

NOH =N
|
b
by

[ NU NN

MAY 22 03I 729.
06 728.7

09 727.

12 728.

S 728.

18 727.

21 728.

24 729.

16.0
16.0
18.0
16.1
16.7 © 39 0.10 OO0
15.
16.

15.

N %
|
»
o
o

-446.8
-47.7
-47.S
-47.8

32

|
b
o
~N
PP PIOCMAO

KA~ 0o N~

INCN K]
N N

MAY 27 02 730.4 -47.9 4 .5 ey
06 770.8 —-48.6 S 15.5 2
09 721.5 -49.4 S 15.1 2
12 7232.0 —-49.4 4 17.0 1
S 7I2.2 -49.9 S 17.2 O 9 0.10 000 2 32
18 720.8 —-49.8 4 16.9 7
21 720.2 -48.S 4 16.6 )
24 720.0 -47.5 4 17.4 7
MAY 24 O 729.6 -45.7 4 17.2 7
06 729.1 -45.6 4 17.9 7
09 729.0 —=-45.4 4 18.4 S
12 729.7 —-45S.2 4 17.5 z
S 720.2 —-435.9 4 15.2 10 9 0.10 007 2 %2 10Cs
18 720.4 —-44.%9 T 14.0 =
21 770.7 —-42.8 = 17.2 2
24 721.7 -40.8 > 17.1 2




Date LT Fst Ta DD AV N ww V ClCmCh a Fhenomena
(1985) (mb) (°C) (16) (m/s) (km)

12,3

1Z.4

MAY 25 03I 7IZ2. -40.2
06 731.6 -41.1

09 7271.5 -42.0 2.9
12 720.9 -4Z=.8 1Z.0 ZCs

I N NN NN
MNP ONO O

5 770.2 -44. 2 1Z2.8 2 I9 0.20 005 2 2Cs
18 730.2 —-45.9 1Z2.4
21 7Z70.1 —446.0 11.9
24 7Z0.7 —-42.8 T 10.9
MAY 26 O 730.5 Z 11.0 1
06 720.3 Z 11.4 =]
09 729.9 = 12.2 8
12 729.1 = 1.9 10 71 0,10 02X 7 332 10As
15 727.0 4 15.1 10 71 .05 02X 7 w32 10As
18 72=.4 4 18.2 7
21 721.2 3 17.9S 7
24 719.6 2 16.0 7
MAY 27 0Z 718.6 Z 16.0 )
06 719.32 12,2 2
09 721.0 it 9.9 2
12 723.4 = ?.7 2 10Cs
15 726.2 = 9.9 10 T6 S.0 007 2
18 729.0 -36.0 3= 9.9 2
21 771.4 -38.2 = Q.= 2
24 732.9 -38.0 4 2.1 2

MAY 28 03I 73S5.6 -38.2 4 8.9 2
06 736.8 -29.9 4 7.5 1
09 728.0 -4=.8 4 10.1 2
12 738.9 -44.92 4 Q.9 2
S 738.9 -4S.1 I 10.8 O 3IT6 5.0 OO0 O 0
18 728.7 -44.2 4 11.2 8
21 737.9 -42.6 = 11.1 7
24 736.7 -45.2 4 10.4 7
MAY 29 02 734.7 -46.5 4 1Z2.0 7
06 73T2.3 —-44.7 4 12.7 7
09 731.2 -44.7 4 14.0 7
12 729.6 -44.7 4 3.5 7
1S 728.2 =-46.0 4 16.0 €O T9 0.10 QOO 7
18 726.5 -46.2 4 14.9 7
21 725.1 —-46.0 4 16.1 7
24 724.4 -46.0 4 15.0 =}

MAY 20 OIZ Z232.7 —-46.7 S 14.7 7
06 722.0 =47.0 S 16.2 &
09 721.2 -47.=% S 16.1 7
12 720.5 -47.2 S 17.7 7
15 720.2 -48.2 S 18.7 X 3I9 0.05 XXX 7 32
18 719.5 -48.2 S 18.4 &
21 719.6 -47.0 5 19.Z2 =
24 720.5 -46.0 4 20,0 1




Date LT Fst Ta' DD v N ww V CiCmCh & Fhenomena
(1983) (mb) (°C) (16) (m/s) {km)

MAY T1 0T 720.6 -45.4 S5 20.8 2
06 720.4 —-44.65 4 22,0 7
09 720.2 -44.0 5 21.9 8
12 720.2 -42.5 4 20.6 4
5 720.6 -41.0 4 18.Z X I9 0.0T XXX 2 %2
8 720.2 -3I8.5 4 16.4 8
21 719.4 -36.6 4 18.7 )
24 718.8 -I5.0 4 16.4 8
JUNE 1 03I 718.2 -T6.8 4 16.0 6
06 718.4 -T6.9 4 15.4 O
09 718.7 -I8.3% 4 14.5 X IT9 0.20 XXX 2 %2
12 719.3 -36.9 4 15.0 10 IT9 0.10 007 2 %2
15 719.8 -37.5 4 15.2 T IT9 0,10 008 2 2 ICs
18 720.8 -I9.5 4 12.7 2
21 721.9 -I9.4 4 1T.0 2
24 72T.4 -40.0 T 12.1 2

JUNE 2 OZ 7285.
06 727.
09 73Z0.
12 732,
15 735.
18 73Z7.
21 739,
24 741.

—-40.
-41.
-41.
—-40.
-41.
-41.
—-40.
-I9.

11.7
11.0
10.8
8.7
9.0 10 IT7 0.50 007
10.0
1001

10.2

k) O R

$+ 10Cs

-)

I
[DESEOEARSEERINS]

0~ 0 id 0~ i
BB DD

—-

JUNE = OZ 742.
06 7473,

|
[
N

10.0
10.8

8 4 =
1 4 = 1
09 742.9 -Z5.8 4 11.8 8
12 742.2 -24.8 4 12.7 8
S 740.5 -3I5.7 4 12.6 10 27 0.30 007 S 42 10Cs
18 737.2 O 4 15.5 7
21 7Z24.0 4 16.4 7
2 4 7

|
[ I
—-
NN

24 7320. 18.8
JUNE 4 03I 727.
06 724.
09 721.
12 720.

18.0
17.1
17.0
16.9 10 29 0.05 02X

NN N O

+2 10As

oMKOPOR P

(L

J )

m o
Mmoo
PP bLrPP

15 719. -28. 16.1 10 329 0.10 02X 7 2 10As
18 719. -Z0.0 14.7 7
21 718. -Z1.0 15.5 )
24 718. I2.1 15.5 2

JUNE & 0Z 716.2 -Z4.5 4 14.9 @)
06 718.1 -I5.0 4 14.8 6
09 718.4 -Z4.9 4 15.4 >
12 718.7 -Z7.0 4 14.0 10 3ZI9 0.30 007 2 $* 10Cs
S 719.7 -Z6.1 = 10 29 0.Z0 0Z7 2 ' 2Ac 10Cs
18 720.85 -Z7.2 4 2
21 721.5 -Z8B.1 4 2
24 722.& -IB8.4 I 2




JUNE 6

JUNE 7

JUNE 8

JUNE <9

JUNE1O

JUNE 11

0=
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09

p—
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09

Fst
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720.¢
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o= 00
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-
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(1%6)

bbb bbbprb pbhpPhbPprp bbb mbbbhbpPpid b bbb bbid

PbhbbbbhbdP

w
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!
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-
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—
-
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Q.20
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R AP

OO8
008

XXX

OO7

0Z7
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Date LT Fst Ta DD AV, N ww V CiCmCh a Fhenomera
(1985 (mb) (°Cy (16) (m/s) (km)

JUNELZ o7 7271.2 -41.83 4 12.5 0
06 731.Z —49.8 4 12.& &
0 721.7 —-40.4 4 11.1 =
7I2.C 8.1 4 1Z.4 -
733 ? 4 1Z.5 2 Z8 2.0 0o8 T =° ZCs
7> . 4 12.79 -
72 8 4 14.0 =z
R4 ? 4 12.8 s
JUNE1Z 02 736.9 -28.0 4 12.0 @]
06 727.5 -28.2 4 11.72 2
09 728.9 =-Z7.7 4 12.6 2
12 729.2 -Z8.6 4 10.6 -
195 729.5 -28.9 4 10.2 1 T6 S.0 008 T +° 1Cs
18 729.7 -29.5 = 11.0 >
Z1 740.0 —=40.2 T 10.& =
24 7I9.2 -40.7 T 10.6 6

JUNE14 O 77Z8.
06 737.
09 736.

-41.
-47,
-44,
-42.
-46.
-47.
-49,
-49.

NUNT KRN RN

1 01 Z0. o8 iCs

oMNPNPNOD
N o IR o 0 0 0 0 I 0 0 o
NOONNDD-O

SNONNON

IR NSRCRERE |

m N

b0

-48.
—-47.

JUNE1S O3 2 -50.0 4 13.1 7
06 .7 -49.7 4 17.4 )
09 S -48.7 4 12.5 =
12 9.7 -48.6 4 1I.6 7
15 -47.0 4 13.8 10 I8 0.I0  O0F 8 = 10Cs
18 -47.4 5 13.9 8
o4 1 7
4 2 7

o

JUNE 16 8 —-47.8 4 1i2.: 7
@ —-47.6 4 11.° )
4 -48.4 4 11.8 z
1 —-47.6 4 11.S 1
4 -46.9 4 11.2 1 Z6 1.0 008 2 =t 1e
2 44 .6 4 10.8 -
4 =-Z8.7 4 10,0 -
- =-I7.9 T 16.Z z
JUNEL17 Q2 774.% -29.4 T 1i1.90 z
06 775.2 -40.8 T 11.5 -
09 7246.8 -F8.8 T 10.°9 z
12 727.2 =-Z6.6 T 10.2 -
15 728.&6 -Z4.9 4 .1 10 &6 0.3 01X Z ¥ 10As
18 779.2 -ZS.0 I 10.0 -
21 7I9.8 -To. T 1005 -
24 Tao.8 -C-4 e .2 -



Date
(198%)

LT

Fst
(mb)

Ta
(°C

DD
(16)

vy
(m/s)

JUNE18

JUNE19

JUNEZD

JUNEZ21

-

Oé
09
12

=
~

18
21

24

(B354
06
09
12

=
-

18
21
24

O=
06
09
172

=
~J

18
21

24

0=
06
09

740.9
740.9
740.9
740.9
741.1
741.1
741.8
741.9

742.7
742.%
743.6
743.4
743.5
742.8
742.8
741.9

740.9
740.1
739.2
728.95
737.8
737.1
736.0
735.0

-35.7
-35.2
-37.4
-39.9
-39.9
-40.7%
-41.6
-42.8

-42.7
-42.8
-43.2
-32.9
-42.3
-42.3
-42.4
-42.4

-40.2
-39.9
-40.9
-40.9
-30.9
-40.5
-I9.8
-I8.4

-24.9
-Z1.4

-Z1.5

PPhbPbbhbbp b bbb b

R S S I ]

A=

99 mWmomom-o
oam+

.
o
.

10.0
10.6
11.4
11.6
12.8
12.7
1Z.1
14.2

12.8
12.4
14.2
14.6
14.7
14.8
14.9

15.5
15.0

16.=
17.9

0 I8

0 39

2.0

0.50

0.10

CiCmCh

Fhenomena

Q06

QOO0

Q00

Wi P bbb

N NEE

NNNDONO N

+! 7Cs

;‘1

734.8 4 7
734.6 4 7
724.8 4 s
12 725.4 -Z21.0 4 16.9 2
S 737.1 -30.4 4 14.5 X 9 0.0S XXX I 32
18 728.3 -29.0 4 15.2 2
21 738.9 -29.8 4 12.2 1
24 737.8 -28.1 4 17.7 8
JUNEZ2Z 03 736.8 -28.0 4 18.8 6
06 737.1 =26.6 = 16.0 =
09 737.4 -26.0 4 S.5 0
12 737.4 -24.0 4 16.2 0
15 728.2 -22. = 16.9 X 39 0.08 XXX I F2
18 729.2 -22.0 = 19.1 2
21 741.8 -22.0 = 18.2 =
24 744.1 -22.0 4 14. 32 2
JUNEZZ OZ 744.8 -21.8 4 11.9 2
06 745.7 -27. 4 11.9 =
09 746.2 -24.2 5 8.0 =
12 746.8 -23.32 4 12.0 =
15 748.6 -24.5 4 10.4 10 ZT6 5.0 07X 2 +° 10AC
18 748.6 -24.6 4 11.6 4
21 748.4 -273. 4 10.0 7
24 747.8 =2T7.0 4 10.4 7




Date LT Fst Ta DD W N wWw v Cl1CmCh a FPhenomena
(1985) (mb) (°C) (16) (m/s) (km)

JUNEZ4 0 746.8 -27.0

06 745.1 -28.0

4 7
4 7
09 742-.8 -27.2 4 11.2 7
12 741.1 -27.4 4 11.1 7

S 728.6 —-26.1 = 1Z2.2 10- Z6 2.0 O7X 7 + 10-Ac
18 725.8 -26.8 4 12.2 7
21 722.4 -27.2 4 12.0 7
24 729.5 -26.5 4 12.8 7
JUNEZS OZ 727.2 -26.2 4 14.4 &
06 726.5 -26.0 4 14,0 )
09 726.% -26.8 4 14.1 6
12 726.4 1 4 1Z2.1 =

15 727.32 . 4 14.5 10 I8 0.50 007 2 % 10Cs
18 728. 7= 9 4 1Z.0 2
21 729.6 ? 4 12.95 2
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Date LT Fst Ta DD W N ww V ClCmCh & Fhenomena
(198%) (mb) (°C) (16) (m/s) (km)
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JULY 7 OF 705.9 —-46.2 4 15.2 8
06 70S.4 —-44.2 4 14.5 =)
09 705.0 -45.9 4 12.S 7
12 704.1 -47.5 4 13.1 1)
S 703.9 -47.2 4 1Z.0 O I9 0.20 Q00 7 32
18 702.9 —-47.S 4 12.6 4
21 704.7 -46.8 4 11.8 z
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JULY 8 O 707.2 —-42.7 = 11.0 =z
Q6 708.6 O 3 11,2 2
09 710.1 4 2 7.1 =
12 712.7 2.8 1 8.9 =
S 716.0 =-34.8 = S.6 10 71 0.50 02X 2 ¥ 10Aas
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21 722.4 -38.9 2 4.5 2
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Date LT Fst Ta DD AYAY) N ww V ClCmCh a Fhenomena
(1985) (mb) (°C) (16) (m/s) (km)

AUG. = 0T 727.0 -42.6 S 19.4 z
06 726.9 —-4Z.4 =1 18.7 7
09 727.5 -44.0 S 18.4 3
12 727.8 -44.6 5 18.9 1
1S5 727.6 -44.4 S 18.95 X I9 0.05 XXX 8 %2
18 727.7 -44.0 S5 19.3 )
21 727.9 -4%.9 5 19.2 0
24 728.4 -42.4 S5 19.0 2
AUG. & 0T 728.5 -41.8 S 18B.6 0
06 728.2 -42.1 S 18.72 ]
09 727.7 -43.2 5 19.2 7
12 726.9 -42.0 S 18.6 7
S 726.8 -41.2 S 17.4 X I9 0.05 XXX B 32
18 725.4 -41.2 5 16.0 7
21 724.4 -42.7 5 16.0 7
24 723.9 -44.2 4 17.3 &
AUG. 7 0O 723.9 -44.8 4 17.3 4
06 723.6 -44.2 S 18.0 8
09 72T.5 -43Z.5 5 18.3 S
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15 722.4 -41.2 5 18.1 X 39 0.05 XXX 7 %2
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24 720.7 -41.8 S 18.9 7
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06 719.8 -43.9 S5 17.3 6
09 719.6 -44.2 5 17.0 6
12 719.4 -44.8 S5 16.4 8
15 719.0 -45.1 4 15.0 X I9 0.10 XXX & 32
18 718.5 -46.9 4 15.8 7
21 718.5 -47.9 4 16.2 4
24 718.8 -47.8 4 15.9 =2

AUG. 9@ 0T 719.8 -48.2
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15 721.8 -49.2 4 10. 4 1 8 0.&0 OZ0 8 +° 1Ac
18 720.7 -48.2 4 11.5 8
21 729.8 -46.6 4 11.4 7
24 729.0 -4S5.6 4 11.95 7




Date LT Fst Ta DD AVAV) N ww V CiCmCh a Fhenomena
(198%5) (mbY (°C) (16) (m/s) (kmo
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Date LT Fst Ta DD w N ww V Cl1CmCh a Fhenomena
(198%5) (mb) (°C) (16) (m/s) (km)
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12 702.9 -492.2 4 13=.8 9 0.15 R
S 702.9 -49.4 4 11.8 0O+ 29 0.35 XXX 2 3
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AUG.18 0OZ 711.1 =49.7
06 713.1 -48.1
0% 715.7 -46.1
12 718.1 -4Z.9

11.7
11.0
11.1

12.1 I8 1.0 Fe0

S 721.7 =4Z.0 12.4 O =8 0.70 OO0 EX
18 724.1 -44.1 12.5
21 72S.7 —-44.5 12.95

PPhrbbPPbr

NS EDESESEANSNDS]

24 726.8 -44.9 1Z.4
AUG. 19 0O 726.8 -44.0
06 7285.6 -46.0
09 72Z.6 -44.6
12 722.4 -42.2

S 720.9 -42.0

1Z.0

1.8

14.4

14.6 9

14.8 X ZI9 0.10 XXX

mmadPbbrrd
P ONNNP

18 720.0 -41.6 15. =
21 720.0 -41.7= 1Z.3
24 719.7 -4=.1 18.0
AUG. 20 0Z 719.4 -4Z.0 15.3=
06 718.9 —-42.5 15.5

09 719.7 -42.0
12 720.0 =Z9.0
15 720.6 -40.1

14.6
15.6
16.9 O 3I9 .10 000

k)~ 0~ N

sEBABRPOIOW

18 722.3 -40.2 14.72 2
21 722.8 =-40.0 14.1 2
24 722.7 —-40.0 14.8 2
AUG.21 OT 724.8 -29.9 14.6 2

06 724.9 -40.72
09 725.9 -40.9
12 726.6 -40.2
1S 725.7 -41.0
18 724.9 -43.72
21 723.6 —-44.1
24 722.2 -44.8

15.0
11.9
10.6
2.9 I Ibé 1.0 004
?.=
10.6
10.7

' ICi

PP PPP
NNDO =)

AUG.22 O0Z 720.7 -45.5
06 719.7 -44.8

02 717.9 -44.1

12 716.4 -42.1

S 715.5 -45.7C

18 715.1 -48.1

21 715.4 -48.7%

24 715.2 —-547.%

10.4

14.5

15.8

15.0 9

14.6 0 I9 0.15 QOO0
1S5.6

1Z.9

1.7

+,2

PO PUOPL P
N 00N NN N



Date LT Fst Ta DD AY N ww V Cl1CmCh a Fhenomena
(198%) (mb) (°C) (1&) (m/s) (km)

AUG.2T 02 715.6 -47.4
06 715.9 —48.0
09 71&.7 ~47.4
12 717.7 -45.9
19 718.7 —-46.4
18 718.8 -47.2
21 718.8 -47.1
24 718.9 —-46.0

10- 29 O.20

8 I9 0.4% 008

+?2 10-Cs
!t 8Cs

RTINSO O O N Y
—_
-

o0 =N

[ RO JEW S R S ]

—
.l

AUG.24 0T 718.9 -46.9
06 718.8 —-46.1
09 718.&6 -45.9
12 718.3
15 718.
18 718.¢
21 718.
24 718.

-
[}

—_
R

nmo=o0mt)yw <
[80]

owmo

4 9 O.T0
29 0.40 04

! 4Ci
' 8Ci

i
|

IS

D

[=Y

I I

p D

Fp >

)
O N N S N

—

4

(SRR

o~
|

N

4}

w

AUG.25 0Z 718.7 -45.7 4 1Z.0Q 1
06 718.6 -45.7 4 14.5 &
09 718.7 —-4S5.2 4 14.2 &
12 718.9 =-44.1 4 13Z.2 1
S 719.7 -44.1 4 13,1 QO I9 0.40 OO0 2 3
18 720.1 -44.9 4 13Z.7 2
21 720.4 -45.1 4 13.0 =
24 720.7 -45.6 4 12.6 1
AUG.Z6 O0Z 721.1 -45.9 4 11.9 =1
06 721.2 -46.9 4 11.8 =z
09 721.8 -46.6 4 12.2 1
12 722.7 -44.9 4 11.5 I8 0.70 .
S 72T.7 -44.4 4 11.3 O I8 0.80 OO0 2 0
18 724.9 —-45.7 4 11.S5 2
21 725.7 -46.0 4 11.6 z
24 726.4 —-46.1 4 12,3 2

AUG. 27 OI 727.
06 727.
09 727,

|
IS
)}
00]

12,
13,
1=,

o bW
o O h)

4
1 4
1 4 3
12 726.9 -44.5 4 12.1 8 0.50 6
15 726.1 -44.7 4 12.0 O B 0.S0 000 & 32
18 724.8 -46.1 4 12.2 7
21 722.9 -46.8 4 12.4 7
24 721.4 -47.1 4 12.2 8
AUG.28 0T 71%.6 —47.1 4 11l.6 7
06 718.2 -47.5 4 11.8 7
09 716.8 -47.0 4 12.4 7
12 716.0 =4Z.7 4 12.2 10 29 0.30 7 Pt
S 715.1 —-43Z.1 4 12.6 9 IT9 0.3Z0 008 7 P 9Cs
18 712.7 -31.4 4 1Z2.2 7
21 712.7 -30.0 4 14,2 7
24 Fi1.S -T7.& 4 14,1 2



Date LT Fst Ta DD vy N ww V Cl1CmCh a Fhenomena
(1983) (mm) (°C) (15) (m/s) (km)

AUG.29 OZ 709.9 -ZS.1 4 14.7 7
06 708.8 —-I2.7 4 1S.1 7
09 708.5 -Z2.2 4 14.1 7
12 708.2 =-Z1.1 4 14.1 10- 71 6 10-As
S 708.7 -Z1.8 4 12.7 10- 71 0.Z0 01X 2 w3t 10-As
18 709.5 -Z1.1 3 12.7 =
21 709.9 -Z0.6 = 12.9 2
24 710.9 -Z0.9 4 11.S 2
AUG.ZTO 0= 711.8 -Z0.8 4 10.8 2
06 712.7 -71.8 4 11.2 1
09 712.9 -Z1.9 4 12.2 2
12 712.5 =Z2.0 4 12.6 10- 71 0.10 O w32 10-As
S 713.6 .7 4 12.2 10- 71 0.20 01X I @32 10-As
18 713.7 -IZ.2 4 12.6 =
21 7123.7 -35.4 4 12.0 4
24 712.6 -3S.2 4 12.6 8

AUG.Z1 OZ 713.9 -36.0 4 13,1 7
06 713.4 -Tb. 4 12.1 7
09 713.5 -3I5.9 4 12.8 3
12 713.9 -35.% 4 11.7 2 =B 0.80 2 %° 1Ac 1Ci
S 714.4 -36.1 4 10.6 8 I8 1.0 0S4 2 %° 1Ac 7Ci
18 714.4 -38.5 4 10.6 4
21 714.4 -39.1 4 11.2 4
24 714.7 -39.4 4 12.0 7
SEF. 1 QT 713.8 -37.4 4 14, )
06 714.1 -37.8 4 13.3= 2
09 714.6 -38.6 4 14.9 =
12 716.1 -38.2 4 9.4 10- I8 1.0 2 $° 10Cs
S 717.4 -38.0 4 10.7 I8 1.0 0S7 2 $° 10-Cs 1Ci 1Ac
18 718.5 -40.8 4 10.7 2
21 719.9 -41.2 4 10. 2
24 720.9 -4=.1 4 10. 2
SEF. 2 03 721.9 —-44.1 4 10.3 1
06 722.7 -44.6 4 10.1 2
09 -44.4 4 10.5 2
12 -41.5 4 9.7 I8 1.0 R A
S -40.6 4 10.2 2 I6 1.5 001 2 ¥ 2Ci
18 -42.% 4 10.6 2
21 -42.4 4 11.2 2
24 -41.9 4 11.4 2
SEF. = 0T 7270.4 —-42.4 4 11. 2
06 732. -42.6 4 10.5 2
09 734.1 -41.7 4 10.6 2
-38.5 4 9.9 T6 2
-Z8.4 4 8.6 O I6 1.0 000 2 3
-42.2 4 3.0 2
-44.5 4 9.8 2
-45.8 = 10.3 O




Date LT Fst Ta DD W N W V Cl1CmCh & Fhenomena
(198%) (mby (°C) (1&8) (m/s) (hkm)

SEF. 4 O 728.5 -46.4 4 Q.2 7
06 7238.4 —-47.7 S F.0 8
09 727.7 —-45.5 = 10.0 7
12 726.9 -42.9 = 8.1 O+ 6 6 0+Ci
S 728.9 -4Z.7 5 7.2 1 I6  To0. 004 6 #° O+Ac 1Ci
18 724.4 —-44.1 & 12.6 7
21 724.4 -47.C S 12.°9 9]
24 72T.0 —-47.S s 14.0 7

SEF. S OZ 7271.9
06 720.8 -—-48.
09 728.7C
12 726.4 -45.
15 724.0 -44.
18 721.1 -46.

H
IS

NN = R

12,
135.
1Z.
15.

16.

O Z9 0.15 QOO

O O0ONE SN PN

PP bbb
NN~ NMNe N

21 719.7 —-4%9S. 18.0
24 718.7 —-44.C 16.6
SEF. & OZ 2 4 16.6 6
06 1 4 16.5 =3
09 2 =29.9 4 16.8 =
12 4 4 15.4 9 2
1S 0 4 14.2 10— 29 0.10 Q04 2 % 1004
18 O 4 14.7= 2
21 7 4 1Z.8 2
24 S 4 14.2 2
SEF. 7 OZ S 4 12.4 2
06 O 4 1Z2.0 2
09 .1 4 12,0 2
12 8 4 12.6 9 2
S 1 4 11.9 10 9 0.Z0 007 2 Pt 10-Cs
18 9 4 11.7 (o}
21 2 4 11.8 8
24 9 4 12.2 7

SEF. B8 O 729.6 -42.2- 4 12,2 &

06 729.27 —-42.2 4 12.7 8

09 729.1 —-41.7 4 12.8 g

12 728.8 -41.1 4 14.0 =}

g 728.7 =-40.7 4 12.8 I 29 0.20 004 8 2 =ECi

18 728.0 —-42.9 = S.1 8

21 726.2 —-44.S 3 1&6.0 7

24 724.6 —-45.4 = 5.5 7
SEF. 7 4T 7Z1.7 -46.1 = 15.5 7

N6 719.1 -46.8 5 5.4 7

09 717.5 —46.2 S 15.8 7

12 716.1 =34.8 4 16.6 9 .05 6 2

1S5 715.2 -44.0 4 16.2 X 3I9 0.05 XXX 7 32

18 71S.2 —-4%.¢ 4 15.9 =

21 Fla.t =44&.000 40 15,3 =

T4 T1T7.S -4&.T 4 13.2 2



Date LT Fst Ta DD % N ww V CilCmCh a Fhenomena
(198%) (mb) (°C) (16) (m/s) (km)
SEF.10 OZ 718.8 —-46.7 4 .9 2
06 719.6 —-46.7 4 1Z2.2 2
09 719.5 —-46.6 4 14.1 8
12 719.2 -45.0 4 14.6 39 0O.10 6 2
S 719.7 -44.6 4 1Z.4 4 29 0.10 004 T 32 4Ci
18 719.9 —-46.7 4 1Z2.6 =
21 720.1 -47.4 4 14.2 2
24 719.8 —-47.3 4 1S8.0 7
SEF.11 O 718.9 —-47.7 4 15.4 8
06 717.5 =-47.2= 4 16.7 7
09 716.5 —-46.4 4 16.8 7
12 715.7 -44.1 4 17.0 39 0.0S 7 2
15 715.2 =-4Z.2 4 16.6 9 I9 0.05 006 7 32
18 714.2 =-42.0 4 16.8 7
21 71Z2.6 =-40.6 4 17.0 8
24 712.6 -Z7.9 4 17.6 7
SEF. 12 02 712.0 -3I=Z.8 = 16.7 S
06 711.6 -Z21.868 = 16.6 b
09 712.1 -29.9 2 19.6 =
12 712.8 -28.2 2 192.0 X 71 0.0S 2 a2
19 714.7 =-27.0 2 19.4 X 71 0©.095 XXX 1 32
18 716.2 -27.0 = 16.0 2
21 715.8 =-25.2 2 19.1 7
24 716.1 -24.8 2 19.2 1
SEF.12 O3 717.7 =-24.5 2 17.2 2
06 719.27 =-28.6 2 15.0 2
09 720.8 -25.2 2 12.3 2
12 721.9 =-25.1 2 10.8 10 71 0.0S 2 2 10AC
S 722.5 =-25.2 3 10.7 10- 71 0O.0S 02X 2 332 10-As
18 722.6 -26.1 3 2.3 1
21 722.9 =26.2 I 10.0 7
24 722.4 -28.2 = 9.4 8
SEF.14 0= 722.2 -27.3 = Q.7 7
06 721.9 -28.0 = 9.9 6
09 721.9 -28.0 = 9.5 4
12 721.0 =26.2 Z 12.0 10 29 0.10 7 2
S 719.8 -26.1 I 12.0 10- Z9 0.10 007 7 %2 10-Cs
18 719.1 -26.7 4 1Z.0 8
21 718.5 -29.2 4 14.5 8
24 716.9 -Z0.1 4 15.1 7
SEF.1S O 715.9 -28.0 4 1Z2.0 6
06 714.7 -27.5 4 12.1 7
09 714.7 -27.6 4 12.32 . (o}
12 712.6 -25.9 4 17.0 X 29 0.09 XXX 7 32
S 714,72 -27.0 4 14.6 10— 29 0.09 0Z4 1 #2
18 714.8 -29.1 4 15.0 =
21 716.6 -29.9 4 1Z.4 2
24 717.7 -I0.9 4 1Z.6 1




Date LT Fst T DD WV N W Y ClCmCh & Fhenomena
(1989 (mby (°C) (1&6)Y (m/s) (km)

SEF.16 O 720.1 -I1.48
06 721.1 =ZZ.0

09 721.8 -II.9

4 =
4 1
4 z
12 722.2 =-Z2. 4 10.6 2 Z6 5.0 T 0 2Ci4
19 722.6 =-22.92 4 10.4 2 6 S.0 Q01 1 +° 2Ci
18 727.0 =Z6.6 4 11.0 1
21 722.7 =-I29.2 4 12,90 &
24 722.4 -40.2 4 11.9 6
SEF.17 O 722.1 -40.4 4 12.2 8
06 721.5 —-40.7 4 12,0 7
09 720.6 -Z7.8 4 12.2 6
12 719.7 -Z4.8 4 12.5 O I8 0.60 OO0 7 F°
S 719.1 -Z24.1 4 12.2 O =8 1.0 000 & F°
18 718.7 -Z26.5 4 12.1 7
21 718.6 -Z7.4 4 12.7 7
24 718.4 -Z7.8 4 12.95 7
SEF.18 0Z 718.6 -28.9 4 11.6 =
06 718.7 —-40.2 4 12.2 8
09 718.4 -28.4 4 11.32 O
12 718.9 -Z6.4 4 10,5 Z6 .0 N
15 719.8 -Z6.4 4 10.0 1 Z6 S9.0 004 2 4 iCi
18 720.5 -Z29.4 4 10.2 2
21 721.7 =-42.0 4 10.1 2
24 722.9 —-4Z.72 4 10.1 1

SEF.19 0Z 724.% —-42.6 4 2.5 2
06 725.2 -44.1 4 @.8 2
09 726.6 -42.1 4 .7 2
12 727.2 -28.9 4 .2 1 6 1.0 = ¥ 1C1
S 728.6 -I8.2 4 .4 1 Z6 1.5 004 O $ 1Ci
18 728.9 =-41.2 4 10.0 pe
21 729.2 -42.2 4 10.4 =
24 728.9 -4Z.2 4 10.8 6

SEF.Z20 0OI 727.

7 —-4Z.S 4 10.6 7
06 726.5 —-44.4 4 12,8 7
09 725.4 -42.6 4 10.6 7
12 724.1 -28.5 4 11.0 1 9 0.3Z0 7 %+ 1Ci
S 722.4 -Z8.7 4 11.2 2 =8 0.80 0OO1 7 J+¢ 2Ci
18 721.=2 -41.8 4 10.6 7
21 720.0 =44, 4 10.5 7
24 718.5 -46.4 S 10.7 7
SEF.21 OZ 717.0 -48.2 4 1000 7
06 715.4 -S0.9 S g.9 7
09 712.9 —-49.2 S ?.7 7
12 712.27 -45.9 £ ?.7 O+ 6 1.0 7 ' O+AC
1 711.0 —-45. =2 S 7.9 0O+ 6 10. OZ0 7 $° O+AC
18 710.1 -S0.6 S 8.&% 7
21 710.Z2 -SZ.7 04 1o.o =
4 Tit., -S5.2 4 11,5 =



Bate LT Fst Ta DD
(198%) (mb) (°C) (16
SEF.22 03 711.6 -56.0 4

06 712.6 -S6.2 4

09 714.4 -S2. 4

12 716.6 -47.8 =

1§ 718.7 —-42.7 =

18 720.6 -41.7 =

21 721.7 —-42.3= =

24 721.7 -42.1 4

SEF.23 03 720.8 -42.8 4
06 719.6 -40.0 4

0% 717.8 4

12 716.2 4

S 7185.2 4

18 714.5 4

21 714.7 4

24 714.8 >

SEF.24 OZ 71S.0 -39.4 4
06 49

09 4

12 4

S 4

18 4

21 4

24 4

SEF.25 O 713.7 -44.0 4
06 71Z.1 -45.2 4

09 712.27 -4Z2.S 4

12 711.4 -29.7 4

S 710.8 -Z8.1 4

18 710.1 -46.7 4

21 709.7 —-43Z.2 4

24 709.6 —-44.7 4

SEF.26 O0Z 709.0 —-45.8 4
06 708.7 —-46.7 4

09 709.1 —-44.0 4

12 709.7 —40.73 4

S 709.9 -I8.6 4

18 710.6 —-40.8 =

21 711.0 -40.9 3

24 711.6 -29.8 4

SEF.Z27 02 712.0 =
06 712.5 4

0% 7132.8 4

12 715.0 T 4

15 716.1 65 4

18 717.5 -Z26.8 4

21 712.0 -Z8.7% 4

24 T20.4 -I%.5 4

v

) (m/s)

a FPhenomena

—-
—
.

»)

-
wm

N0 O

INTS RO

—
o
.

14.6
1Z.8
15.2

14.4

- -

I.2
12.5

11.8

12.0
12.0
1Z.7
12.1
11.4
11.2
10.6
11.2

-
-—a J

12.6
12.8
12.6
11.6
11.6
12.5
11.8

2.5
11.8
11.0
10.0

7.7

8.6

%.5
10.7

10.7
10.8
10.8

0.60

10- 36 1.0

106 71 0.08

10 71 0.07

0.18
0.50

0.80

-
[
[09)

0.70

O IQ 0.3T0
Q 8 0.80
0 =8

0.80

0.60
0.80

~

8

007

OO7

007

001

OZ0

QOO

001

_?_,O
i..l

8C1
10-Cs

S PRI R LA

w2 10Cs

#+2 10Cs

=N 0NN DN

_?,‘2
4,1

iCi

1Ci

=R NN

+° O+Ac

NN NN

_“,,l

4_.0

= = RE) 0O
-to
°

7Ci

FIEYEIE) = R D
*.
°




Date LT Fst & DD (VoY) N ww  V CiCmCh a Fheromena
(1985 (mb) (°C) (16) (m/s? (km)

SEF.28 02 721.7 -41.1 4 c.z 2
06 722.0 —-41.8 4 .4 =z
09 724.27 -29.7 4 2.2 2
12 725.4 -Z7.0 4 7.8 0 02 10. 0oOn 2
S 726.7 -26.5 4 6.8 O+ 02 Z0. Q01 2 0+Ci1
18 727.6 —-40.7 4 7.5 2
21 729.6 -44.0 4 8.7 2
24 771.7 —-46.0 4 10.7Z 2
SEF.29 0Z 722.1 —-47.0 4 10.4 1
06 774.8 -47.2 S. 11.8 2
09 726.8 —-44.1 4 11.7 =z
12 7728.4 -Z9.S% = 11.2 =2
S 740.0 -28.1 S 9.6 Z T6 S.0 001 2 +° ZCi
18 741.1 -29.9 S Q.0 2
21 741.5 -41.0 S 10.0 1
24 741.6 —-42.4 S 9.1 2
SEF.Z0 OZ 740.95 —-47.2 S 8.7 7
06 728.7 -44.0 5 11.5 7
09 Z7.1 —-42.4 S 7.6 0 9 0.290 00O 7 32
12 I259.6 =39.0 = 10.9 0O 9 0,19 000 6 32
S 7372.9 -Z8.8 =1 1Z.8 0 9 ©.19 000 7 32
18 720.0 —-41.7 S 16.5 7
21 726.7 —-44.0 S 16.6 =)
24 727.9 -45.2 S 18.2 6

OCT. 1 O0Z 721.5 -—-45.
06 719.7 -—-45.

09 719.0 -41.

12 718.5 -Z8.

S 718.8 -Z6.

18 719.8 -Z4.

21 721.4 -ZT

24 TIZZ.0 =24,

18.
20,
21.
20.
18.
19.
21.

20

10 T9 0.02 XXX

B VY 04 O

_F‘Z

PoOBROD
RN ST o)
0~ NN

AphprbAD_OWM

N

OCT. 2 02 724.7 4 18.95 2
06 726.72 4 19.2 2
09 728.3 4 18.0 O 9 0.0S Q00 I 32
12 728.6 4 15. 2 Q
S 727.7 4 14.27 4 29 0.195 001 7 #2 4Ci
18 727.0 ] 14. 4 7
21 726.6 = 15.2 8
24 726.1 4 16.35 8
OCT. = 02 725.8 -728.8 4 16.7 7
06 725.7 -I8.0 4 16.7 6
09 726.2 -25.8 4 2.0 =z
12 727.1 -Z22.2 4 12.5 0+ 9 .15 001 I 2 0+Ci1
S 728.8 -Z0.2 4 2.5 1 Z6 S.o 0ZI8 2 +° O+Ac 1Cs
18 7Z0.0 =Z1.7 4 .8 2
21 TI0.e -I2.9 4 12.72 =
24 77i1.4 -ZS.0 4 1701 i




Date LT Fst Ta DD vV N oww V¥ Cl1CmCh a Fhenomena
(1983) (mb) (°C) (16) (m/s) (km)
OCT. 4 0= 4 12.2 7
06 4 11.8 8
09 4 10.8 7
12 4 i1.1 7
15 4 11.2 O+ 36 S.0 OZ0 7 3 0O+AcC
18 4 11.6 =)
21 4 12.6 6
24 4 12.8 7
OCT. § 0 726.5 =-38.2 4 12.7 7
06 725.9 -3Z8.4 4 12.2 7
09 725.6 -ZT.1 4 12.1 Z I8 0.70 001 6 $° =Ci
12 724.9 -21.6 4 1Z.4 (<)
S 724.5 -31.2 4 12.9 O 36 S.0 000 7 $°
18 724.6 -34.4 4 12.0 >
21 724.9 -Z7.8 4 12.8 2
24 25.4 -39.4 4 1Z.8 1
0OCT. &6 OZ 725.6 -40.2 4 1.7 1
06 725.8 —40.0 4 14.4 1
09 4 3.2 >
12 4 12.9 7 I8 1.0 001 2 %° 7Ci
S 4 12.4 7 I8 1.0 0ol 2 $° 7Ci
18 4 10.7 1
21 4 12.4 =
24 4 2.5 (@]
0CT. 7 OF 4 12.9 8
06 4 12.6 6
09 4 12.6 7
12 4 11.6 7
15 4 11.7 O+ 6 S.0 070 7 +#° O+Ac
18 4 10.9 7
21 4 11.5 7
24 4 12.0 7
0OCT. 8 0= 4 12.2 7
06 720.5 —-43Z.2 4 12.8 7
09 719.Z7 -39.4 4 0O 0 IT6 1.0 OO0 7 4
4 9 7
4 2 0 I6 5.0 QOO 7 0
4 s 6
4 ! 7
4 = 7
OCT. @ OZ 714.2 —-4=.7 4 12,1 7
0& 714.0 —-47.5 4 12.4 7
09 71Z.8 -29.2 4 11.0 O 6 S.0 Q00 7 °
12 714.2 -Z5.0 4 10.1 =
1S 714.S -Z4.4 4 .0 0O IT6 20. 000 T
18 715.0 -Z8.4 4 Q.7 2
21 715.8 -4Z.0 4 10.8 2
24 7158.7 —-45.1 4 10.0 2




Date LT Fst Ta DD W N ww ¥V Ci1CmCh & Fhenomena

(1985 (mb) (°C) (16) im/s) (hm)
OCT. 10 03 717.9 -46.5 4 10,6 2
06 718.8 —46.0 4 10,6 2
09 719.6 -41.2 4 2.6 2
12 720.5 =-Z6.1 et 7.5 2
S 721.6 .0 I 4.9 I 02 10, 001 2 ZCi
18 722.2 -Z6.2 = 5.0 1
21 72Z.0 -28.8 = 5.9 2
24 72Z.1 -329.8 > 6.7 1
OCT.11 03 722.9 —-45.0 4 8.0 8
06 722.2 -44.2 4 8.5 8
09 721.2 -41.2 4 8.8 0O I6 Z.0 000 7 41
12 719.8 =36.7 4 9.z 7
S 718.0 =-2Z5.0 4 8.6 0 6 S.0 QOO0 7 P
18 71S5.9 -Z28.0 4 10.0 7
21 714.2 -40.7 4 11.2 7
24 712. -41.1 4 1Z2.2 7
OCT.12 Oz 711.2 2 4 12.2 7
06 710.7 6 4 12.8 &
09 710.85 8 4 1Z.7 10 29 0.1S 007 7 %2 10Cs
12 711.2 O = 12.4 2
S 711.7 6 = 9.2 10 =8 2.0 007 I $° 10Cs
18 712.32 ? = 8.0 =
21 713201 4 = 7.9 2
24 714.1 b = 7.9 2
OCT.1= 02 714.8 4 = 8.2 1
06 71S.4 8 4 9.2 2
09 716.2 2 4 7.8 2
12 716.9 65 = 6.0 2
15 717.4 8 4 4.7 O+ 02 10, 020 2 O+As
18 718.2 2 4 S.0 2
21 718.9 T 4 7.z s
24 719.8 4 S 7.6 1
0CT.14 03 720.4 -48.0 S 9.7 2
06 719.6 -47.4 5 12.1 8
09 719.4 -42.= 5 12.2 O 29 0.40 QOO 7 F1
12 719.2 -%6.8 4 12.5 ]
5 719.6 =-Z5.0 §5 11.7 O =8 0.S50 000 T
18 719.9 -Z7.7 4 11.0 z
21 720.0 =-41.6 4 12.1 =
24 719.9 -42.2 4 12.& =]
OCT.15 0OI 720.0 —-4Z=.2 4 10.7 z
06 719.9 -42.9 4 10.6 7
09 719.8 -Z7.2 4 10.9 10— Z6 5.0 001 7 +° 10-Ci
12 720.0 =31.92 4 9.7 2
S 719.6 -Z1.4 = 8.5 10~ 6 10, 011 8 +* O+As 10-Ci
i8 719.Z2 —-Z2.8 = 7.9 =
21 719.2 =-Z4.6 = 7.0 7
24 718.9 -=Z4.Z o 7.0 7



Date
(1985)

Fst Ta.
(mb) (°C)

DD
(16)

vV
(m/s)

N  ww

OCT.16

0OCT. 17

0OCT. 18

0CT. 19

0CT.Z20

0CT.21

(9):4
06
09
12

c
-

18
21

24

03
06
09
12

=
-~

18
21
24

()%
06
0
12
15
18
21

24

0=
06
09
12
15
18
21

24

0=
06
(8154
12
15
13
21

24

(5}t
06
09
12
15
18
21

Poibed

718.8 —-IZ2.

718.8 -I¢.0
719.% -28.9
720.6 -285.9
721.4 -27.0
722.2 -31.1
2I.7 -IT.4

724.4 -I5.6

725.1
725.9
726.9
727.6 -28.8
728.2 -28.0
728.4 -Z20.9
728.6 =-37.7
729.2 -40.4

728.9 -42.1
728.5 -39.4
728.1 -327.8
727.8 -32.8
727.1 - 0
726,37 =36.0
725.9 -40.0

25.% -41.7

724.4 -43Z,0
727.2 -40.8
722.6
722.0
721.4
720.9
720.9
720.7

720.3 —-41.6
720.1 —-41.S
720.2 -I8.1
720.7 =-I3S.2
720.1 =-Z4.0
720.2 =36.6
720.5 -41.0
720.8 —-4Z.0

721.4 -4=.6
721.8 —-41.8
722.8 -37.0
72T.7 -I2.
724.7
28.8 .
726.3 -38.0

727.1 -IZ9.4

NS IR R I I |

99090
sbpbbbdPD HPLDEPED PHHEPPIIO PUbPUBDLD

LA LPLD

MmelbidPpbo
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PPHULUNE NN P
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12,
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L O )
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12,
11.
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RN SR
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. . .
0 01
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N
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10- 71
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O+ I9
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2

[orea)
wm ¢

0. 07

0.10

0.03
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011

0ZX

008

SXX
07X
001

001

Q09

001
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4As 1Cc 4Ci

10-Ac
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w° 10-Sc
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1Ci

10-Ci

SCc 4Cs

O+Ci

1Ci
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Date LT Fst Ta. DD Vv N owWww Vv CiCmCh & Fhenomena
(198%) (mb) (°C) (16) (m/s) (km)

OCT.22 0T 727.5 = 10.4
06 F27.7 2 11.1

09 728.1 S 12.2 2 =8 0.70 001 +° 2Ci
8 12,0

Q.
8.
8.
Q.

+° TAc 4As ZCc

0 o
b O

B R Rl

-
o
N

RN
0

MNmWm

)R = FJR) R D 1)

(B

OCT.2T O 720.9 -I5.6 4 12.2 7
06 730.2 -36.8 4 12.0 8
09 729.8 -Z2.2 4 15.1 1 IT9 0.05 001 6 2 1Ci
12 730.7 -28.7 4 14.4 2
S 721.4 -27.8 4 1.7 10 I9 0.0S 007 2 $2 10Cs
18 731.2 -29.0 4 13.4 7
21 730.7 -T1.4 4 14.%6 7
24 73T0.0 =IT.2 4 16.1 7
OCT.Z24 O 728.6 -3S. 16.0
06 727.2 -34. 17.5
09 727.0 =30. 17.0 9 3I9 0.05 002 +2 9Ci
12 726.6 -27. 17.5

5 727.0 -26.
18 726.6 -27.
21 726.2 -I8.

24 725.2 -29.

17.
16.
16.
19.

10 72 0.07 O7X 4 9As 1Ac

o
T N N N NI NI NN

Nl BRI & N R SRR
M~ N oo NN

k)

OCT.285 02 722.6 =-29.9 4 19.9 7
06 721.4 -29.7 4 19. 2 7
09 719.2 -28.5 4 20.6 (@} 79 O.02 Q00 7 32
12 715.9 -26.8 4 20.8 7
S 712.7 =27.0 4 21.7 10 9 0.02 079 S 2 7Ac 1Cs 2Cc
18 712.9 -27.2 4 20.8 0
21 712.4 -29.2 4 21.2 =
24 712.7 -Z0.1 4 19.8 0
GCT.26 093 714.4 -Z0.4 4 20.9 2
06 714.8 -Z0.0 4 19.4 1
09 714.6 -28.0 4 20.0 10 T2 ©.01 XXX S 32
12 715.0 =-27.2 4 20.0 1
S 715.7 -27.6 4 18.6 10 9 .01 XXX T %2
18 716.5 -29.2 4 16.1 2
21 717.4 =-22.9 4 15. ¢ =
24 717.2 -34.7 S 19.4 8
OCT.27 0% 717.9 -25.95 4 17.5 1
06 718.8 -ZZ.8 4 19.2 2
09 721.2 -20.9 4 18.4 2
12 723.5 -28.2 4 16.9 I I9 0.05 200 2 %2 2Cu
S 724.7 -28.0 4 1.5 8 29 0.0z 200 O 2 2Cu
18 25.2 —-28.4 4 1.7 =
21 727.6 -29.0 4 14.5 =2
24 TTO.E -T0.2 4 14.7 z



Date LT
(1983)

OCT.28 0=
06
09
12

15

18
21

24

0OCT.29 0=
06
09

12

=
=

18
21

24

OCT.Z0 OZ
06
Q09
12

=
=

18
21

24

OCT.Z1 03X
06
09
12
15
18
21

24

NOV. 1 OZ
06
(o)
12

=
~J

18
21

24

NOV. 2 0=
06
09
12
15
18
21

~A
T

Fst Ta DD vV N wWwW Vv Cl1CmCh a Phenomena
(mb) (°C) (16) (m/s) (km)
7Z1.8 4 5.9 2
732.9 4 14.7 2
7Z2.8 4 S.1 4 29 0.1S QO1 2 2 4Ci
7Z2.3 4 137.4 7
7Z1.1 4 1Z.7 1 T6 ©0.890 070 7 ¥ 1As O+Ac
730.8 4 10.9 7
7I20.7 4 12.4 6
771,73 4 12.7 2
721.0 8 4 12.9 8
7I70.2 .7 4 1=.7 7
720,35 8 4 13.2 2 I8 1.0 001 I $° 2Ci
7I0.1 > 4 1'1.6 8
729.8 T 4 11.1 1 Z6 S.0 0O1 7 $° 1Ci
729.2 = 4 8.7 7
729.1 0 4 8.4 7
728.4 4 4 10.4 7
727.S -Z7.8 4 11.6 7
726.7 -36.8 4 11.8 7
726.7 -Z2.4 4 12.0 O T .0 Q00 7 p°
726.2 -28.9 4 11.6 S
726.7 -27.2 4 10.1 1 Z6 S.0 010 T +° 1As
726.6 -28.8 4 9.2 =
727.5 -3Z.1 4 10,3 2
728.5 -Z5.7 4 10.9 2
729.6 O 4 10.7 1
729.9 S 4 10.1 2
729.9 O 4 .7 O+ T6 10. 001 4 +° 0O+Ci
729.7 z 4 8.0 7
729.2 7 4 6.0 O 02 0. QOO 7
728.5 O 4 5.4 7
728.0 1 4 7.8 7
727.6 -Z8.4 4 ?.4 7
726.8 -40.5 4 ?.4 7
726.0 =329.Z 4 ?.4 7
725.4 -Z4.2 4 2.0 O 02 0. 000 6
289.1 -29.7 4 7.4 7
725.1 -27.6 4 5.5 0O 02 3o, 000 4
725.1 -29.8 4 4.4 4
725.1 -Z5.9 4 7.9 4
725.4 -29.4 4 10.9 1
25.7 -41.27 4 10.6 8
724.9 =-40.0 4 10.7 7
724.8 -I8.2 4 10.2 O T6 10, 000 7 P
724.7 =-30.7 4 ?.1 S
25.0 =-29.0 4 8.7 O+ 02 10. 001 T 0+Ci
720, -Z0.Z2 4 6.8 (&)
725.6 -35.8 4 8.1 2
725.2 -IB.7 4 190.2 2




Fst Ta ., DD w
(mb) (°C) (16)» (m/s)

)

03

726.4

-40.4

10,

4 Q g
06 726.5 -Z8.9 4 10.2 1
09 726.5 -Z2.2 4 10,27 O 6 10, QOO 4 o
12 726.8 -27.9 4 8.8 =
S 727.0 -26.6 4 7.8 O 02 10C. (eleTe N
18 726.6 -29.1 4 7.6 7
21 726.6 -374.7C 4 ?.4 S
24 726.2 -37.1 4 10.6 7
NOV. 4 OZ 725.8 -28.2 4 11.0 7
06 725.0 =-36.7 4 11.2 7
09 724.8 -31.7 T 10.2 7
12 724.8 -26.6 > 8.7 4
S 725.4 -24.4 2 6.5 4 0OI 10. 004 2 4Ci
18 725.8 -26.8 = 4.7 2
21 726.7 -31.0 = S.6 =
24 726.8 -34.1 = 6.6 2
NOV. S O0I 726.9 -Z7.4 4 7.1 2
06 727.2 =-35.2 4 8.4 2
09 728.5 -IZ2.2 4 7.8 10- ZT6 10, 011 2 +# 1As 10-Ci
s 6.4 2
1 Z.1 S 02 10. 011 2 1Ac SCi
= 2.4 2
= 5.0 2
4 7.8 2
NOV. & 03 @ -40.9 4 ?.0 (@)
06 1 =-29.32 4 ?.7 7
09 4 -T4.6 4 10.4 OO+ To 10, 001 7 +° O0+Ci
12 6 -Z0.2 4 8.4 7
15 S -28.5 4 7.6 O+ T6 20, 001 7 2 O0+Ci
18 0 -28.8 4 6.8 7
21 8 -74.9 4 8.8 7
24 6 -28.7 4 10.3 7
NOV. 7 OZ 724.2 -29.9 4 10.5 7
06 727.1 =-Z7.8 4 10.2 1)
09 722.5 -32.8 4 2.8 2 T6 10. 002 7 ¥° 2Ci
12 722.2 -27.9 4 8.4 7
15 722.2 =-26.2 4 7.6 T IT6 10, 004 S 3 ICi
18 722.2 -28.2 4 6.7 4
21 722.5 -ZZ.8 4 7.9 =
24 722.7 -38.0 4 ?.3 2
NOV. 8 OZ 7 -39.5 4 e.2 =1
06 8 -Z7.8 4 8.9 2
09 .4 —=I2. 4 7.5 0+ 02 0. 001 T O+Ci
12 1 -27.4 = 4.6 2
S 2 -24.1 15 1.8 2 02 0 001 2 2Ci
18 I -24.434 14 1.1 2
21 .1 -28.4 0O 8] 2
24 4 -Z4.27 1 1.9 z




Date LT
(19835)

Ta
(°C)

DD
(16)

w
(m/s)
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Date LT Fst Ta DD (VA% N ww V Cl1CmCh & Fhenomeria
(1985 (mb) (°C) (16) (m/s? (k:m)

NOV. 15 0% 725.6 -Z1.
06 725.0 =29

09 724.1 -28. . O+ T6 10, 001 +° 0+Ci
12 23,5 =21
-~ et e ade

15 722.6 -20.
18 722.0 -22.
21 721.4 -28.

24 721.0 —-Z1.

4 6 10. 001 +° 4C1i

b o b
PP bulbb,Pp
o -
Mmoo -0Wo W
WY NN D

NOV.16 OZ
06
09

Z 0~ k)

8] 02 0. QOO0

Eo R B L LA
o

b
NObPODCLH oW

.
NNNORGON

' ]
12 joul
S = 02 Zo. 201 1C1i
18 4 .
21 Q S.
-

24

NOV.17 OZ 4 4 7.6 7
06 S 4 8.6 7

09 8 4 9.2 9 Z6 10. 011 8 +° 0+As i
12 R = 10.6 8

S .6 4 11.6 10 26 2.0 01X 7 +* 10As

18 1 8 4 12.0 7
21 712.1 -24.8 4 1Z2.2 S
24 712.6 —-26.72 4 1Z.9 2
NOV.18 O 714.7 -26.0 4 12,32 z
06 717.1 =-25.2 = 10.1 2

09 719.6 -22.73 = 10.2 10 =8 1.2 07 2 #° ZTAc 10Cs
12 721.8 -19.2 = Q.7 2

S 72Z7.27 -18.7 =2 8.9 10— =& 5.0 072 2 +° QAc XCi

18 725.1 -19.0 2 6.6 2
21 726.92 -22.1 = 4.8 2
24 727.7 -25.2 = 7.9 2
NOV. 19 OZ 728.2% -28.72% = 8.2 2
06 727.2 -28.7 4 2.5 7

09 726.0 =26.0 4 10.°9 1 RY-) 1.5 021 7+ O+Ac 1Ci
12 724. -22.9 4 9.6 7

S 724.0 =20.7 4 8.0 &6 IT6 T.O 0S1 7 ° 4Ac Z2Ci

) O 4 5.6 7
6 4 ?.9 7
8 4 11.7 7

NOWV.20 02 720.6 -Z1.1 4 12.6 7
06 718.9 -29.2 4 14.9 7
09 718.1 -25.5 4 18.0 & I9 Q.10 002 7 82 5C:
12 717.2 -22.5 4 9.2 7
15 717.1 -21.8 4 14.1 9 29 0.10 01X &6 B 9FAs
18 717.1 -2Z.2 4 1I.5 =]
Z1 717.9 =27.0 4 12.4 2
24 718.4 - g 4 1Z.= z
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Wil bbb P

INFRERERERERE Y|

DR I S R )

vV N ww vV ClCmCh & Fhernomena
(m/s) (km?

1Z.4 2

1Z.6 2

12.4 O+ ZB 0.70 001 2 +° O+Ci
12.0 =

11.4 O+ T6 1.5 001 2+ 0+Ci
10.0 2

?.6 2

10.5 2

11.0 2

11.7 2

11.0 9 Z6 S.0 03=1 2 $® O0+Ac 9Ci
8.9 2

6.7 10— 02 ITO. 001 2 10-Ci
4.0 1

S.7 2

6.9 2

8.6 2

8.6 O

7.1 2

&.4 2

S.7 O 02 IO, 000 5

4.6 8

6.6 6

9.2 7

9.8 7

10.7 7

10.6 7 ZT6 S.0 Q01 7 ¥° 7Ci
11.0 7

10.0 9@ ZI6 2.0 01X 7 ¥t 9As
9.2 7

8.7 S

8.2 2

8.4 >

8.8 4q

8.0 10- 38 1.0 012 2 +° 1As 2Cs HGi
6.5 2

S.1 7 02 10. 040 2 7AcC

4.6 S

S.6 =

6.8 1

8.3 8

?.= =

@.7 10- 328 .0 002 2 $° 10-Ci
8.9 1

7.7 9 ZTb6 10. 021 2 +° O0+As 9Ci
S.8 2

7.0 Q

7.5 7
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1.5 022 T $° 2Ac 10-(Cs
1
10. 070 2 ZAc 2As

+° O0+Ac 10-Ci
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Date LT Fst Ta DD AY N ww V Cl1CmCh a Fhenomena
(19895) (mb) (°C) (16) (m/s) (km)

DEC. = 03
0O&
09 2
12 720.0 =2

1 I8 1.5 001 +° 1Ci

T N N NN NS
Mo~ NN NN

18 732.8 -19.7
21 77
24 734.0 -25.0

= 2

Q.
10.0

- J —'e

S 729.0 -19. . 2 T6 5.0 002 +° 2Ci
18 728.1 -21.2 ]
21 727.8 -25.5 10.1
24 727.7 -28.8 10.6
DEC. 4 0T 727.8 -28.6 12.7 I
06 728.2 -27.7 13.0 2
09 729.6 -24.2 14.7 10- 39 0.30 002 2 ' 10-Ci
12 730.8 -20.4 12. 2
S 731.9 -18.8 11.1 10- 36 2.0 002 2 +* 10-Ci
1

DEC. S OZ 724.8 -22.
06 734.4 =22,
0 724.8 -20.7
12 5.7 -18.9
15 728.6 -18.5
18 725.S -19.1
21 29.6 -20.0

24 7385.8 -2Z.2
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15.8 10 Z9 0.05 XXX
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12.7 10 Z9 0.10 XXX
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8.4
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DEC. & 03X 735.2 -24.7
06 724.7 -21.8

09 7ZZ2.5 -19.0

12 722.9 -16.8

S 771.1 -15.8

18 729.7 -16.3

21 728.6 -18.6

24 727.95 -22.3

10.95
12,32
11.9 8 Z8 1.0 OZ0
12.95
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+° BAC

11.
8.
9.

10.7%

4 T6 1.5 002 4Ci
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DEC. 7 0OI 726.4 -2T.
06 724.9 -22.
09 72Z.7 -20.
12 722.2 -16.
15 722.9 -14.
18 727.8 -14.
21 724.7 -17.

24 725.8 -20.

14.2 10- T9 0.30 011 ! 1As 10-Ci

10.0 @ 6 2.0 17X ' 1Cu 6AcC GAs

PNIORIE-AH)
PP bLbLP
-
— |
(01]
BRI o NNN

DEC. & 0I 726.2 -21.
06 726.9 -21.
09 727.9 -19.
12 729.2 -16.
13 7Z0.2 -1GS.
18 720.4 -17
21 731.6 -21.5
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Date LT Fst Ta . DD %% N ww V Ci1CmCh a Fhenomena
(15835 (mb) (°C) (16) (m/s) Ckm)

11.0 =T ZT6 S.0 001

DEC. 7 ©0IZ 7= -26.56 g.=>
0& 7Z4. -25.1 7.2
0! 7= -21.7 ?.4 1 02 IO, 002 1C1
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DEC.11 OF 1 -19.6 S 9.5 1
06 1 -19.2 4 10.8 2

09 1 -17.4 4 17.0 10- I8 0.70 022 T #° O+As 10 Ui
12 T -15.9 4 11.S 2

S 7 -15.7 I 10.0 1 I6 IT.0 110 2 +° 1Cu iAc

18 9 -15.8 4 7.8 2
21 1 -19.8 S 2
o ° 4 2

24

DEC. 12 o 7239.6 -24.5
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-24.4

DEC.14 0T & -24.4 4 e.s z
06 2 -24.7 4 ?.? 1
o9 Iz -Z2.8 4 .2 7 6 Z.0 0Tl T 2 O0+Ac TCi
12 1 -19.9 4 7.8 z
S 7734.9 -19.4 4 7.1 O+ 6 10. 110 Z 2 O+Cu O+As
18 728.9 -19.8 4 7.0 =
21 TI6.H 2T 4 6.6 =
2a TIT.T -Z24.2 & S.é =
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DEC. 19 Q=
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09
12
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DEC.20 OF

06
09

739.0 =20.2

7I9.3 —22.
739.2 -21.2
738.6 -2Z.0
737.2 -21.1
29.95 -19.0
732.2 -17.9
771.7 -17.2
TI0.0 =20.1
727.6 -2Z.7

724.9 -24.0
722.7
720.3
719.2
719.1
719.6

—~

PRSI

-19.1
-15.8
-15.9
-15.4

720.9 —-16.5
722.4 -20.2
724.0 =-20.

726.865 —-17.

O
2
8
Q

728.7 —-18.

730.2 -13.7
771.8 -12.6
733.7 -12.8

737.0 =-16.°%
740.6 -18.5

742.9 =20.2
744.8 -19.2
745.8 -17.32
745.8 -14.8
744.7 -13.72
74=.7 —=-132.7
742.9 =-17.0
742.4 -20.4

741.S
740.1
738.7%
736.6
734.9

rdrted

-19.
-16.
-14.
-14.
-14.
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Date LT Fst Ta DD W N ww Vv Cl1CmCh a Fhenomena
(19839) (mb) (°C) (16) (m/s) (km)

DEC.21 OZ 720.2 -21.7
06 728.9 -21.4
09 728.2 -19.6
12 728.2 —-16.8
18 729.1 -15.0
18 729.6 -15.1
21 730.6 —-15.7
24 731.8 —-16.8

12.7 10— 79 0.3Z0 008 +' 8Cs 2Ci

11.2 = 28 0.80 0Z1 +° 1Ac ZCi

P D DD
—
A = k) i b
®
S IS N N SRV

DEC.22 OZ 7Z2.1 -17.
06 732.8 -17.

09 722.9 —-19.

12 722.2 -17.

S 771.2 —-16.

18 7270.9 -—-16.

21 721.0 -17.

24 771.7 -21.

m i

10- 29 0.15 701

$+? 9Cu XCi

Z I8 0.80 001 +° ZICi

PO O0OO—
PhbbpPbdbbp
-

-

S I 0 I NS R B 8 Bl
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DEC.2Z 0= 8 4 9.5 2
06 771.3 8 4 11.6 7
09 730.9 =-20.4 4 1Z.95 6 9 0.40 091 7 %! 2Ac 6Ci
12 720.6 -18.5 4 12.2 7
15 720.4 -17.2 = 10.9 10— 28 0.350 012 S #' b6As 4Ci
18 720.2 -17.2 = 7.2 7
21 770.2 =20.6 S 2.9 4
24 730.0 =-23.9 4 7.0 8

DEC.24 0T 729.4 -24.
06 728.8 -2T.
09 727.8 -20.
12 726.6 -18.

9.
Q.
8.

? I6 10. 002

PPy DADED
PN GO N = O i
8]
0
o
R0 NN N D

Py R4~ 0

S 725.6 -15. 7. 20. 001 +° 2Ci
18 725.4 -1S. 5.
21 725.6 -19. 5.
24 726.2 -23. 7.
DEC.25 0T 726.9 -23.2 4 8.8 2
06 728.1 -22.0 4 9.4 z
09 729.7 -19.6 4 9.8 10~ 02 10. 0IZ 2 O+Ac 10-Ci
12 730.5 -16.8 4 8.7 2
4 T 6.7 5 01 10. 101 2 1Cu 4Ci
1 2 4.9 2
S 2 4.4 2
8 T sS.1 2
DEC.26 0T 73IS5.6 -18.8 4 4.1 2
06 7T6.2 -16.8 I 2.2 2
09 737.1 -15.4 2 4.5 10 71 20. 07X 2 i 7As IAcC
12 738.0 -13.3 16 2.7 1
S 738.1 -12.5 16 1.6 10 71 2.0 02X 1 i 10As
18 738.1 -14.5 1 1.4 4
21 737.% -16.2 O G &
24 7I7.7 -19.& S 1.9 2




Date LT Fst Ta DD vV N ww V ClCmCh & Fhenomena
(1983 (mb) (°C) (16) (m/s) (km)

DEC.27 O 736.9 -24.9 4 4,9 7
06 736.1 27 4 S.0 7
09 735.6 -19.1 4 4.1 O+ 02 0. S01 7 0+Sc 0+Ci
12 7275.4 -15.4 = .4 7
15 734.9 -14.2 = 1.6 1 02 10. 471 7 O+Cu 0+Sc O+Ac 1Ci
18 724.8 -14.8 = 1.5 8
21 5.1 -21.1 4 4.4 =
24 735.6 -26.1 4 6.4 2
DEC.28 0OZ 73Z5. -26.1 4 7.5 S
06 736.2 =2Z.0 I 8.5 s
09 737.5 -19.6 = 2.2 8 I6 10. 0Z1 2 +° O+Ac 8Ci
12 738.% -16.1 = .= 2
S 738.7 -14.4 = 7.9 6 I6 20. 002 1 $° 6Ci
18 728.7 -14.7 = S.7 0
21 738.7 -18.%2 4 6.2 S
24 739.2 -22.2 4 8.0 2
DEC.29 03I 738.9 -22. 4 10.6 7
06 738.9 -22.2 3= 10.7 4
09 739.2 -18.95 = 9.FT 10 IZ& 10. 00& I +® 8Cs 2Ci
12 729.2 -14.8 2 5.0 Q
S 779.2 -11.4 16 1.4 10 02 10. 007 B8 10Cs
18 739.1 -12.6 12 1.7 7
21 728.9 -15.6 7 1.6 =)
24 728.7 -21.9 =) .2 8
DEC. 20 OZ 728.27 -24.7 S 3.9 6
06 738.1 -27Z. S 2.5 8
09 728.2 -19.6 6 5.0 O+ 02 0. 001 Z 0+Ci
12 739.0 -15.1 6 8.9 1
S 740.0 -13.9 6 2.8 0O I6 I0. QOO 2 $°
18 741.S5 -14.9 6 10.2 2
21 742.8 -18.1 S 9.8 2
24 745.2 -21.9 S 10.8 2
DEC.Z1 0T 745.5 -24.0 § 10.9 =
06 745.6 -27. S 10.7 1
09 746.0 -19.9 5§ 11.1 O+ ZT6 S.0 001 I +° 0O+Ci
12 746.9 -16.0 S 10.3= 2
S 747.0 =-14. 5 S 2.8 O 02 10. OO0 2
18 747.1 -15.1 S 8.4 1
21 747.2 -18.7 S 9.5 2
24 747.1 =22, S Q.= 8



